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LES-=1 - Gurg sidley
Part-A — General Studies

eflarm&sdr  : 1-100
Questions :1-100

1|

Arrange the following OSI layers in order

(1)
2
(3)
4)

W

(©)

- (E)

Data Link Layer
Physical Layer
Transport Layer

Network Layer

@, (), @, 3
@, 3, @, 1

Answer not known

B) @), 3), (D), 4
D) 3, (1), (4), (2)

Qereumd OS] wips@smar auflamsliLB$seb.

)

(2)
3)
(4)

(A)

(©)
(E)

570| @eoariy AOES
el 2i(H& &
sL&d ADES

@ aeamaime HHES

@), (1), (4), (3)
(@), (3), (2), (1)
Men Gzflweleena

B) (2), (3), (1), (4
D) 3), (1), (4), (2)

GST2AM/2025
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2.  Assertion [A] : In humans, individuals inherit Mitochondrial

DNA strictly from their mothers.

Reason [R] : Therefore, the mtDNA sequences obtained from

(A)

maternally related individuals such as a brother
and a sister (or) a mother and a daughter exactly
match each other when there is no mutation in
either of cases.

[A] is true but [R] is false

Both [A] and [R] are true and [R] is the correct explanation
of [A]

(C) [A] is false, [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct _explanation
of [A]

(E) Answer not known

amom [A]  : valsisefle  wmIwe ol CLrsram lue  mtDNA
g Gleum(meu(mHLDd SBIGET STl L1 (m b Qupms
Qamerdprirger.

smyemrid [R] @ mtDNA-epw ST Fihs eCGangri LoHmLb
sGargfleell_Gomr  Sdeg smi  wombd  weefLGor
Qopsrgd sGF wrHpnd @derod @Gy wrdfurst
QupmisLamdreTemb. :

(A) [A] &l myemed [R] geum

(B) [A] wpmbd [R] s wpgid [R], [Alefpsrer sflwner oflarésid

© [A] sy [R] & |

(D) [A] wpmw [R] s, <yerme [R], [Alefparar sflurar sdetéssin @dama

(E) ofen Qsflueicranen |

GST2AM/2025 4 ) g



3. InIVF technique, fusion of sperm and ovum takes place in

(A) Vagina

(B) Fallopian tube
\59( Culture medium
(D) Uterus

(E) Answer not known

IVF wpepuia .aﬂ‘r_'r;g,@sqm S@TLpld Gevewreug Pemelhouanaip Bl crdled

BenL_Gumdma) ?

A) C‘;umﬂa's G

'(B) SUGemAwer @l
- (C) ety sar_sib

©) soeo

(E) &ewL Qsflueicoena

= 5 GST2AM/2025
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4. Choose the right matches among type

The methods employed in micro propagation and improvement of

tree species are

(1) Clonal multiplication —  Prosopis cineraria

(2) Protoplast culture and —  Dalbergia sisso

genetic engineering

(3) By somatic embryogenesis —  Cupressus arizonica
(4) Germplasm conservation —  Tectona grandis
(A) (1) and (3) correct (B) (1) and (4) correct
(C) (2) and (3) correct (D) (3) and (4) correct

(E) Answer not known

Epssam_cuphe sflurer @eoamaws H&T([0 11 dsayLb.

@w&GIT LFLLSD LHYID W) Geamhsmer GLLUESFDL AperD

(1)  @Cermmard QukEs Wpevn v B HGCrrGemYev AeflGrwm
(@) UGGt Gemedt ety —  Lréutgur ds
Hmib wrugy QuTHudwed e '
(3) eLdlwe & 2 (HeUM&ELD —  @urewev NCsrafsm
(4) QgrQermsd LTgsTI —  QusGLrmerm Syneimiy e
A) (1) wopo (3) o B) (1) oppd (4) s
(© (@ wopps (3) & (D) (3) wompi> (4) s

(E) el QsfMwaiicranew

THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE
THE EXPERT COMMITTEE FOR FINAL DECISION

GATe A @s¢sae wnmb L. @mS rudlnsns t

UG SRl (06T MEUSHLILIL. 2 ETaTEI.



Which of the following is incorrectly paired?

(1)

(it)

Atal Tinkering Lab

Krishi Neev

(ii)) Palna

(iv)

(A)

Unnati

(iv) only

27 (ii) only

(E) Answer not known

\Qetreu(meuaTeupPler eTE SEUMTE

@)
(1)
(iii)

(iv)

@)
©
(B)

S grsfin guieishd
fflafl Beu
LieDeuTIT

2 gramd)

(1v) i (b
(111) L@ -

fev @sflweierena

Nurtures an innovative mindset
towards research amongst high
school students

Platform to promote technology
interventions in agriculture

Provides support service like safe
accommodation and Medical
assistance to working women

Technology platform integrated
with artificial intelligence to match

job providers with seekers

(B) (1) and (i1) only
(D) (i) and (iv) only

GlevamrsaLLL_(HETeTg) ?

o wiflene  udtefl  wrewauiseafiemL Gu
S TTLEASSETET LGI@DWLNeT Loeblemeaenul

&S gl
- efeusmubded Qg midled HL LS

sauipsmer easGeils@D SeTd
uanfiy My CuemsEps@L UTGISTULTeT

gh@OLD  LHpb  OESHe 26l
Guimestm BT Ceaeusaner
UPHESEDS

Geuamev Gg@umr‘raa@l_ebr Ceuaner
aipEGUaTs@a QuUImss Csupms
I} BT GROT (D] 61| L_GHT PhSloanssiul L
Qamflém g SeTid

(B) () wppid (i) G
(D) (1) wHmbd (1v) LD

s GST2AM/2025
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Match the folloWing :
(a) Hydrogen bomb

(b) Power reactor

(c) Magnetic confinement of

plasma
(d) Atom bomb

@ b © @
@A 2 1 4
B) 1 3 4
© -3 A4 1

W 4 3 2

(E) Answer not known

e S B A I

Hereu(meuaraihenm CQuT(Sgs

(a) eanyger Gan®
(b) Smer 2 ewa
| (¢) Wermavwreer srpzedwie

| _&&H6D

(d) <igmiEa®

@ () (© (@

A 2 1 4 3
B) 1 3 4 2
©) 3 4 1 2
(D) 4 3 2 1

(B) e QsNweddene

GST2AM/2025

Uncontrolled nuclear
fission reaction

Controlled fusion reaction

Controlled fission reaction

Fission - Fusion reaction

SLBHUUTLHD @SS
Slerey eflenar
SLAUURSSILL L @eenTa,
clllemerr

SLOHUUOSSILL L iami&hemn
Yere) elenar

@GS DaTey - Geneuray
eNemeur



Which of the following is/are correct about Dip-Pen Nano
Lithography (DPN)?

(i) Itis a direct method
(i) It works on diffusion through water molecules
(iii) It patterns a variety of materials

(iv) It is a fast scanning process

(A) (1) only (Bj (i1) only
\gX @), (ii) and (iii) only (D) all of the above

(E) Answer not known

GeraupeuamapBler agl/eremau i Cuarm prGarm o5Csndlgma (DPN) upg

Filwmemeneu ?

O Qs 86 Corg @D _

(11) Qs sematys epR&ImNISET LUTase pebd Gaime Qeiifng)
(i) @8 ueCapul L QurmLsaie eaigaukismen euamTépg)

(iv) @& @m HHCus evGaear Cewdpemm

A) () wrew | (B) (i) @

(©) . (1), (i) womb (111) wL D D) Cuhemdu BenarsgIb

(B) &lenr Qzsflweferena

9 GST2AM/2025
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8. The

primary objective of Global One-Stop Cent_res (OSCs)

established by Ministry of external affairs 18

(@A)

(B)

v

D)
(E)

Promote student and faculty exchange programme

Facilitate research and development among Higher Education

Institutions

Provide comprehensive assistance to women in vulnerable
situations |
Support Indian students studying abroad during crisis

Answer not known

@pdu Caeflypais geop mbéssssmd Bpelult o osameiu gn

Bmgs ewwmgeiear (OSCs) wsaeraw Crrés

(A

(B)

(C)

mepTeum HPId SAwi uflwrbp £t sog casEelusHETS
2w soell  Hpeemsefleor Cu  rmisd  whHmd  Gubur el
creflgméa

LUTEEsILLGanqL - Goflaouidd o drer Quens@EpsE — effeurar

2 gellaemer eu@r'mas

(D) Apmssquier Gurg Geualipmged Ligdse ‘@BEw mamTel s EnEE
< sreuaflss
(B) e QsNweddene
GST2AM/2025 10 &



Arranging chronological order/event type

Arrange the following poverty alleviation programmes in

chronological order

(1) Sampoorna Grameen Rozgar Yojana
(2) Swarnajayanthi Gram Swarozgar Yojana
(3) Integrated Rural Development Project

- (4) Food for Work Program

® 0.0.0.@ A D6,00
© @, @, 6.0 ©) @), @), Q) @)

(E) Answer not known

Sp&E e ﬁe}sggmasmm sroaufllesliuBSSIS.

Qemeupid augieno @i Sl kisemer sroeufles iy @@@@u@g},g@ab
(1) swyier dymSer Crrevat GumgerT

(2) eveuramrQguibs Symid GoeuCpTevaEHT Guimggerm

(3) QHEEDeTHS 2ays suerrr‘féélﬁ b |

(4) Ceauemaossrar 2 amed SHLL b

A @), (2),3), 4 B) @), (3), (2), (1)
© @,®,03), Q1) D) 3), @), (1), (2

(E) ofer Qzflweierenew

11 _ - GST2AM/2025
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10. Assertion [A] : The lack of alternate employment, skill training

Reason [R] : Poverty is increasingly becoming a feminine
identity. |
(A) [A] is true but [R] is false _
w Both [A] and [R] are true and [R] is the correct .explanation
of [A]
(C) [A]1s false but [R]. 1s true
(D) Both [A] énd [R] are true, but [R] is not correct explanation of
[A] |
(E) Answer not known
ampm [A] i Guans@péstar  wmHo Gc-:n_laneu. eumiiy, dper Lulné
BODG  sLaT sl QlOarss  seuis@mer  emenude
eSS HEGSD wHADTWH smyaflumgb.
smpewd [R] @ eumenwo @g,rrl_fr;'r)g Cueamerflu @@L wrerors
QUHFH DE).
(A)  [A] eaimano gyerma [R] saug |
(B) [A] wpmib [R] @rem®id o emeno, [R] erertig [A] emsmer efwimer
eleréabd
(©) [Al soup sy [R] »_aireno |
D) [A] wpps [R] Qrem@ eamen wamed [R] edug [Aladnsrar
sflumer efletésid i
(E) &lenr Qsfweleene
GST2AM/2025 12 &

(or) credit facilities for women, is another factor

that keeps them in poverty.



1.1,

Article of the Indian Constitution- Prohibi_ts the

~ employment of children in Factories, Mines, or any other hazardous

occupation.

@A) 21A

W 2

©) 17
®) 39

(E) Answer not known

@QidHwu srflueenornler 9fa), QzmpeTeansdr, SrhshseT
sdvag Geum éT;jr;g, gugsrar  Qamfdlgd Gphmssmer Geumeass

Qlniggamss soL baldpg.
(A) 21A

B) 24

©) 17

D) 39

(E) oflen_ _@gﬂ@@ﬂ]ebmeu

13 - GST2AM/2025
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12. Match the schemes with years.

(2)
(b)
©

()

A)
B)
o)

)
(E)

Epsaramid S L nismer SbsHS UBHLSSILET QUTHEES.
1.

- @
(b)
(0
(d)

(@A)
(B)
(©)
(D)

(E)

Neengal Nalama

Manu Needhi
Kural Mutrodhal |
Illam Thedi Kalvi .
@ b (© @
5 B A d
J: 2 3 4
3 4 1 2
4 1 2 3
Answer not known

Briger peoom

gy

GDeT PHEHTSED
@eid Cslq sevall

@ b © @
2 3
1 2
3 4

1

4
3
1
4 2

BRI T~

ellenL Qg flwelldene

GST2AM/2025 14

2
3.
4

Ll

2000
2021
2024
1969

2000
2021
2024
1969

"



13.

Tamil Nadu skill development corporations established a new
platform by using AI Technology to guide the youth’s employment

and skill {raining is called as
(A) ‘IIlla)lfa’ .
vﬁ( ‘Ilaya’
©) ‘N aan. Mudhalvan’
(D) “You are your own king’ Schéme
(E) Answer not known
| gQLél%pg)rr@ Snar GubUT (& spsh Qeubas pararbeas Gsmid @Jr_uggm

EPELDTSE PIENET(EhTEHER& @ Geuaned umIliL] WHMILD Qms&r LWHSEE euflsm ()

amm‘ésaauupl_ &@(h FeTid
_ (A). ‘S

B) ‘@eerus

(C) ‘prem opgdauer

D) ‘B0 eani g Hrid
. e Getinaea

15 , GST2AM/2025
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14. state has the highest percentage of unemployment
~ during the year 2022-23.

\% Kerala | (B) Haryana
(C) Punjab (D) Tamil Nadu

(E) Answer not known

wrfleon  2022-23 sarsdshudear  Gug lc‘wg_ﬂas

Cauemeufamento ell&lgd GamerL wmblei.
(A) Casrerm (B) enflwrerr

(©) v D) s8pErEH
(B) afler Qafwicicreme

15. The Total Gross Enrollment Ratio of Tamil Nadu in higher
education during 2021-2022 was

(A) 45 percent (B) 46 percent
' w 47 percent (D) 48 percent

(E) Answer not known

2021-2022 <ib s@6 p@ig e SBPBTLIged 2w el vuildGaumflen

Qs udley 2 GTeng).
(A) 45 sgafdlgid (B) 46 szeidlzid
(C) 47 s3a048s1d | (D) 48 sgeidlsid

(E) oflev Qaflwelerane

GST2AM/2025 16 | o



16._ Which of the following credit schemes for Farmers Producers

Organisations (FPOs) 1s incorrectly paired?

@
(11)
(iii)
(iv)

A)
©)
(B

Credit guarantee scheme

Mezzanine capital assistance

Revolving fund support

Nabkisan

(1) and (iv)
(iii) and (iv)

Answer not known

Direct cash grants
Non repayable credit
Concessional credit

Initiates credit schemes

with T.N.

: \;B( (1) and (i1)

(D) (ii) and (i)

- efleusmlser o pusHureri sewlilpsrer Wereumbd sLar S nisafld erg

SeUMTS @lenantés Ll (HeTaTg) ?

(1)

(i)
(1i1)
(iv)

(&)
©)
(E)

SLGT 2 SHTOUTES S L b
Quevevrenere pLpSET 2 56l
siped BlEl psray

BLI&lFmen

(1) wpmid (iv)

(iii) whmbd (1v)

afen GgsfNuaierane

17

Cpry Lan H4

FmuE QesspiuIns  SL6

FRING &L 6l
SWOIPBTH ATFL6T @) ManTHS
FL6m SlLhisenens

QEweLIHiSHIFH6D

- (B) @) wpmio (1)

(D) (i) wpgud (i)

GST2AM/2025
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17.  Which of the following statements are True about features of Tamil

Nadu Economy?

(1)
(i)
(iii)

(A)

Tamil Nadu has 7t» highest GSDP per capita

‘Tamil Nadu has low industries and small service sectors

Tamil Nadu is second largest economy among the states in
India

@) only

(1) and (i1) only

\(2( (ii1) only

D)
(E)

(11) and (iii) only

Answer_ not known

g,Lﬂg_)‘r_r)_rr@\ @urr@mrrg;_rmg,gleh Quéyseers LbHHL Yereumd sapmiseiics erg

D GITEMLD ?

(1)
(11)
(1i1)
%Y
(B)
©

(D)
(E)

GST2AM/2025 .18

leravig 9 saflpLi eu@mrrmg,,é,]a) SDBT(H 7 gl 2 Wiihg @l_g,ﬁsu

; gmerrgj

sBDETH  Gonps Csmfdsdr wHm An  Cswes H@psmETE
QameT{H\ereng

@;Dﬁu_lrra‘j]a) o arar  wrilensale  sBlPETH  Grarireug  GQuflw
QummeTTETISMms 2 LWl

(1) L@

(i) wpgid (i) e Gid
(iii) v Gib

(i) whmo (1) v @

ellenL Ggflweldeme

1



18. Match the following climate conferences with respective themes.

(a) Kyoto protocol 1. Limit global temperature rise
(b) Rio Earth summit 2 Protécting Ozone layer |
(c) Paris Agreement 3. Global Framework for sustainable
developnient
(d) Montreal protocol 4. Commitment to reduce emissions

iy o) e - )
(A) 2

B 4
(B 4 2 3 1
sz 3 1 2
) A R SR R

(E) Answer not known
- Qéreugsd sTeflee LIBTHS@ETD il ETiHs SHS@SYL CUTHSSIS.

(a) ACumGLr Apflperpy 1. eos dalubloa e wimal
_ s_HLubSSIsL
(b) ﬂ@u_lrr L8l 2. &8 wrprlh 2. @(Sacrréh UL OS®S LMTESTESED

() wumflev @UILIBSLD . 3. fPeewurer aenisfléstar 2 osarrew
SULeowlL
(d) wrem it ApHepen 4. o flhees G@DLUSHSTET iy

@ ® © O

A) 2 e B
B) 4 2 3 1
(C) 4 3. 1 2
(D) 2 1 ol R
(E) oo Qzflwelerene
= _ L i = : GST2AM/2025
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19. Assertion [A]

Reason [R]

COP28 marked a significant milestone in global
climate action by explicitly calling for a transition
away from fossil fuels.

The Global stocktake, a kéy component of the
Paris Agreement, highlighted the urgent need to
accelerate climate action.

(A) Both [A] and [R] are true, and [R] is the correct explanation

of [A]

Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

(C) [A] is true, but [R] is false
(D) [A] is false, but [R] is true

(E) Answer not known

spm [A]

smyewrd [R]

u@m erfldummarsefialmbs @m odwss wrHDsSHsTan
Qeuef iLenL_wimer S@plifearmd o esarmeiiwu sreblene

- pragsosie, COP28, am ¢Aud_sss awdahmea

BIDL_HSI-

urfled  @uUBsSHeT  WEAW  SmsLTET @(errﬁsb
wLmEGCLs,  sreflow  pLagsmsou  gisLUOSS
Couaimg i Heusrs Comauemws aRogImTsss.

(A) [A] wpmb [R] @rar@n o amrenio, Gmgmo [R] ereiruigy [A] @en sflwimen

aﬁlmasasmrr@jm

(B) [A] whmw [R] @rer@d 2 awenio, %ES&TITGD [R] eratrugy [A] @ern sfwime

eNleT&SLO66

(C) [A] 2 arenw, e [R] erérug seuprarg

(D) [A] ererug seuprengl, gpemed [R] eremug o arenio |
(E) e Glg)mmaﬁlsbmsu

GST2AM/2025
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20.

The

threatened species found in the Agasthiayamalai Biosphere

Reserve are

@
(i1)
(1i1).

Lion-tailed macaque, slender loris and great pied hornbill |
Rudraksh tree, black plums, wild dahman and gaub tree

Slender loris, lion-tailed macaque, black plums rudraksh tree

- and green pit viper

N2

(B)

- (©)
(D)

(E)

(i). and (ii). only
(1i) and (i11) only
(iii) and () only

(@), (ii) and (iii)

Answer not known

ssevduvme 2 ulisGstars  sTiussHD  sTaTUULBL  SAPBE  @IBD

O TRISET GTETLIENE

(¥)
(i1)
(ii)

GV

(B)
©
(D)
()

Srugseumed (&mi@, avedlerL (Sepnﬂdu, @ur‘rﬁu eul gmmiremiled
(HSSTTLE b, HHLUIL Garid, sT_( Lener, mﬁ@u‘n STU1 DD
Qe Camfley, SAmseurd @Griig, Smuy der, @gUﬁLé_ g,
HOID LFenss G eeuliLi : ;
(1) womb (11) wr b

(i) whmib (1ii) w @b

(i) wppi> () 0 G

@), (ii) wpmwb (iii)

e Asfueddama

21 Lk GST2AM/2025
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21. Consider the following statements.

(a) Forests regulate floods and droughts

(b) Almost 10% of tropical forests are lost each year

(¢) Nearly 47% of forests Worldwide are tropical forests -
(d) 45% of the World’s forest are under protected areas

The correct statements are : .
(&) (b) and (c) (B) (a), (b) and (c)
J#ZJ (a) and (c) (D) (c) and (d)

(E) Answer not known

Sereumid iMsmsamerd smesdd Qamers.

(8) euamiser Geuetend WHMLD DL Aevws GG HSSIAETDET

(b) gaQearmp e@iepnd, Airssit 10%  Qauuneiie st@ser
- @usstiu@pdeimen :

(©) e wlsudgid odar srhseeo digs L 47% QauriLbeam e sr@aser

G0 |

(d) o odlar 45% sr@sdr ungerésiuL L UGS seefler o ererer

sflurer 9fémsser erarumel :

A)  (b) wpmw (c) (B) (a), (b) wppo (c)

(©) (2) wpmid ©) D) (© wpms @)

(E) &le Qsfweidame :

22. . - satellite was sent by ISRO on 1st January 2024 to
~ study cosmic X rays. . ;
(A) ASTROSAT ' (B) Aditya -1
(C) Chandrayan —1 \;Hj Xposat

(E) Answer not known

CewupesGarar 1, mareufl 2024 ooty @evCrm srevbla
& sdlisemer <y iia| Qeuiub Qummr @ Di@ILutUlL g

(A)  <=pevr Gymem (B) = dswur -1
C) epfywumer - 1 (D) ersevGumam
(B) el Qzfluefdena '
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23. Central salt and marine chemicals Résearch'lnstitute is located at
(A) Cochin  (B) Chennai

\(y Bhavnagar (D) Narimanam

(E) Answer not known

WSS 2 L1y LHHID SL DTTUEFE Hneuend ermhiE HenLobgeTarg) ?
(A) Qarsfer (B) Qserenar
(C) veups (D) mpAwamrid

(B) oL Gzfusidema

24. Clean Air Act was passed in the year

@/ 1970 (B) 1972

(C) 1969 (D) 1980

(E) Answer not known -

s&sLIET STHNE & Lb HeonGaubpriu L a6
(A) 1970 | (B) 1972
(C) 1969 | (D) 1980
(E) &lev Qsfueiome

b : 23 GST2AM/2025
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25. Match the following Bird Sancturies with their districts :

Bird Sancturies - Districts
(a) Vettangudi 1. Sivagangai
(b) Mayura Thottam 2. Ariyalur
(¢) Vellode 3. Thoothukudi
| (d) Karaivetti | 4, Erode

@ b © @
@A 4 3 2
@ 1 B8
w1 3 4
® 3 2 1

(E) Answer not known

= N e

L9eTEU(BLD LIDEEUSET STETTOWS®S SiB6 TeUL L S§IL 6 QUTESSED :

LUDENEUGET FJemTTeollLh DTEUL_L_RIGET

(8) Gauiéngy 1. Heasnows
(b) wygr Gam b 2. oflugnr |
(€) QeuarGern( 3. &1$EEG
(d) serQeu 4. =Gy

@ G (@ @

A) 4 3 2 1
B 1 2 3 4
C) 1 3 4 2
D) 3 2 L 4

(E) eflenL Qg fMwelldena
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26. Arrange the following periods in order :

1)

(1)
2)
(3)
(4)

(A)
(B)

Prehistoric period
Chola’s period
Sangam period

Pallava’s period

(1), (4, 3), (2)
2), (4, (), 3)

& 1,6, @, ©

D)
()

Qemeu(HLd Sremsmer (papmliLlg euflesiubhisss :

(1)
@)
3)
4)

(A)

B)
©

D)

(E)

@), 3), (4, (1)

Answer not known

@JUGDW@Q]@S@.@EIJI'_I_ &ITELD

Cempit Hmeoib

FhI& ST

LIGDEOGUIT HTeuLD

(1), 4), 3), (2)

(@), (@), (1), (3

(1), 3), (4), (2)
(2), 3), 4), (1)

eflenL Qgflwelildena
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27. Assertion [A] : V.0.C charged with sedition, was sentenced to
. forty years of imprisonment.

Reason [R] : He attended Surat Congress session and followed
Tilak and preached his philosophy.
(A) [A] is true, [R] is false

(B) - Both [A] and [R] are true and [R] is the correct explanation of
- Al
Both [A] and [R] are true and [R] is not the correct explanation
of [A] '
(D) [A] is false, [R] is true
(E) Answer not known

som [A] e e GCses  5Crmas GHPD - &WHFIULH |
40 arHser Hemssam_emar aﬁ]ﬁasasuul_Lg,}

smpamd [R] @ @rs wmpniuyed swops  Qstan®  Hosat Qs
sdglaE®ms sMem. .

A [A] &, [R] seug |

(B) [A] womis [R] Qe oM, Gugud [R], [Aler sflwrar eferéswm@in

(C) [A] wppib [R] @ram®d &, Cuogib [R], [Aler &lﬂu_IITGﬁT clleTésb e

(D) [A] seup. [R] &

(E) e Qsfweddena

28. Ishwar Chandra Vidyasggar setup school for girls at
(A) Bombay (B) Surat
(C) Lahore _ \;D‘f Calcutta
(E) Answer not known '

Guerrs@nssnan udmellanw maveul sy elgwrsnsir Bimew @ ib

(A)  ubumd B &5
(C) emgarf o (D) sosssm
(E) &le Qsfueidame '

GST2AM/2025 - 26 % %y



29,

What have to be realized if you want to overcome the ignorance and

feel healthy?

| \}4‘(( Be aware and believe on the immaculate truth

1

(B) Duty concious
(C) Karmic Action
(D) Medicinal knowledge

(E) Answer not known

SiPlwrend Sigemm B Camermibd eriGung) ?

(A) vwssd Apelips) wrsHD . @TEDML & e
B) sLovoL Qsizes

(C) s Qewe

D) vesge sitle

(E) &fevr Qsflweievenaw

27 . GST2AM/2025
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30. Match the following :

(a) Justice Party

® DMK

(¢) Dravida Kazhagam

(d) Self Respect Movement
@ ® © @

(A) 4 I .. @& 9

® 2 4 1 3

Ws 1 2 4

M3 1 4 2

(E) Answer not known

sflunar ellenL_emwg QuTEHHSF CFs :

@
(b)
(c)

- (d)

(A)
(B)

(©)
(D)

(E)

BHsa A
H.p.s.
AprailLit &pa&bd

swflurens @uidssLD

@ ® © @

£ L% 8. B
2 1. B
3 1 2 4
3 1 4 2

cflenL Asflweiidene
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1949
1944
1916
1925

1949
1944
1916

1925

1



31. The first state level meet of self respect movement was conducted at

which place?

' \}K{ Chengalpet

(B)
©)
(D)

Madurai

Chennai

Kovai

Answer not known

swnflurems Quéssdear wsed wLIHle aelorer sl b abs QLo

BLSBILILLG?

(A) Qerisédul

(B) wgey

(€) Qodnewen

(D) Gsrea

| -(ﬁ) Men GzMweidene

29
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32. Which one of the following statements is/are wrong regarding
Edward Clive, the Governor of Madras Presidency?
(A) He usurped the regime of Nawab of Arcot
(B) He abolished the poligar system

(C) During his tenure, the supreme court of judicature in madras

was founded

\}Dﬂ He did not show interest in the letter of Veera Pandya
Kattabomman stating the insult inflicted on him by Collector

Jackson

(E) Answer not known

Qeeranan  wrsTESSET W@EBT Tl Seoae Giss CemHEDTL sl

TG/ T HEUDTETE) ? |

A)  opsr@ peumGer sirest ud\daié Qanammr

(B)  ureetwssny < woneow @SS

©) '@&mmﬁﬁm_ goamw  foapd Qe ol Assrosdd
| pﬂ@muqu'_;@

D) sQas_it smrésar, serean SlaurariuGsdeil Lgrs  efruramigw

slLCumbodr  adu  sussdheE alail  Hedd  eyfeubd

Sr_Lalédane

(E) oo Qsfweddana
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33. Choose the right matches.

(1) Bankim Chéndra Chatterjee — Anandmath

(2) Lord Minto — Madras

(3) Swadeshi - VOC

(4) Lala Lajpat Rai ' — The National Council of
' ‘Education

W (1) and (3) correct

(B) (1) and (2) co;‘rect
(C) (1) and (4) correct
(D) (4) and (3) correct

(E) Answer not known

sflwrer Qumpsssams s Al

(1) uadb ey e Lig) —  oy@hs LD

(2) HemGrnm QY — Qeamenar

(3) &Cgé ~ ane.d

(4) erer egud Frw -  sodlssnar CaAlu spsib

@A) (1) wppo> (3) &
(B) (1) wpmd (2) &
©) (1) wpmid (4) &
D) (@) wpgo (3) &
(E) oo Qsflwelome

pam | e B | GST2AM/2025
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34. Match the following :

(a) Madras Medical School

~ (b) Madras Presidency College

(¢) Madras Christian College

(d) Pachayappas College

@ ® ©

@A 2 "1 4

| @f 2 4 1
©) 2 4 3

D) 4 3 2

(E) Answer not known

Mlerreu(meuameumenmls QUT(HSEIS :

(a)
(b)
©
@

(A)
(B)
(©)
(D)

()

Gl gren WwHGFHell LiaTer]

(d)

3
a5
1
1

Quigrev GrHQLend seoarfl

Quot_yred Aflavgieud g

u&enswliumen segyril

@ ® ©

2 1 4
2 4 1
2 4 3
4 3 2

cllenL Gz Mwelldvena

GST2AM/2025

(d)

3
3
1
1
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1837
1835
1842
1840

1837
1835
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35. Who among the following was appointed as the Zamindar of
Ramnad by East India Company in the place of Muthu Ramalinga

Sethupathi?

\Qt)/ Mangaleswari Nachiyar

(B) Maruthu Pandiyar
(C) Raja Udaiyappa Sethupathi
O Raghunatha Sethupathi II
(E) Answer not known
SpsarLauiseiler  wsgTTwans Grguse udeors  dpsEe  @pSw
shueflwume FrbpTiger sfeargryrs Hlublés il Laif wmi?
&) wusGadvel prédwri
®) 0@s Lrsimgwi
O o mw;u Bosyii
D) @rerLmb rEprs Cegiud
(E) e Qsflwuclome
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36. Read the following Assertidn and Reason and choose the correct

answer from the code given below.

Assertion [A] : Anwar-ud-Din, the Nawab of Carnatic sent an

army to fight against the French in 1746.

Reason [R] :  Dupleix, the French Goﬁrernor, failed to keep the

promise of surrendering Madras to Nawab after
its recapture. '

Code:

(A)
y

(©)
D)

(E)

[A] is true but [R] is false

Both [A] and [R] are true and [R] is the correct explanation
of [A]

[A] is false but [R] is true ;
Both [A] and [R] are true but [R] is not the correct éxplan'ation
of [A] :

Answer not known

- Qeeu@pld  EpepUd, STIEISMSWD  Uig S&id ﬁ@lc.p CaTH &S (HeTer
@‘[&USI_LC}.QS]@(E@ sflwrer udevaws CairbosHéseyLb.

o mfwner empm [A] : siprsrefer BEUITL] - Sjemeuit 2 gdla

YQrerasamyisamer adigg Cumil 17466 e
UL enw e e,

aryemrd [R] : Guolgrad esluHDILLL 9p@E& s HeumndL b

euueL LGuer  eern  aurs@nHeowss  1907EHs
seurrant HleopCeupms seudlef L.

IR

A) [A] &M spemed [R] seum

B) [A] wpgd [R] @Quemnd &M, Guwaud [R] eerug [Alar sflwmar

eT&& LD

(C) [A] seumy <pammed [R] & _

D) [A] wpgid [R] @renpw &M, eyame [R] ereirg  [Aler sflwimrer
NleTESED e

(E) e Osfweldee
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37.

)

Match the constitutional amendments to their corresponding acts
correctly.
Amendment . Subject matter
(a) 91st Amendment Act 1. The council of Ministers must
contain no more than 15% of the
Lok Sabha members, including the
_ Prime Minister
(b) 102r Amendment Act 2. Women are given one-third of all
_ seats in the Lok Sabha
(¢) 105t Amendment Act 3. It grants constitutional status to
' the National Commission for
: Backward classes
(d) 106th Amendment Act 4. The state government is empowered
again to identify and specify socially
_ and economically backward classes
@ @®m (@ (@ '
A 1 4 2 3
B) 2 1 3 4
©C) 4 1 3 2
1 3 4 2
(E) Answer not known
srflueenliug  Snssusmar  Seupdlar  Gsmiiuelw - Smsss
S:I_I_I'E.I&'v@l_ﬁﬂ' EFI'ﬂU_HTEU UW@{E)@I’BJSBG-IT. :
(S0 QummeT_&&Lbd
(@) 9lgeug Hmsss sLb 1. ewssisdr - Gupeid Grsioi
2L wésaees 2 pUiberisefed
15 aflpssmé@ Cued @méssEamL Mg
(b) 102<ypeug Hmsss s b 2. wasaTemaulled QUETsERdsE  apemdled
([5 IJI'B.I@ @I_I'EJ&@T G)_IQFEJ&;IJI_I@LD
(c) 105<yeug Hmpsss s Lb 3. %@ &mu@gg)uuLL au@uianhésmearn
s@Hevaen m@m@ g

(d) 106geug Hmsss s Lib 4.  sups Lomg)_fm QumernsmysHe
' Semg i) Liferend  serblbg)
§;5]u|9®m cﬂq &I LIH®  STFES
@T(HILD QUL RIS LILIL (HETeTg)

(@) () feJ " d)
A 1 4 2 3
B 2 1 3 4
€ 4 1 3 2
D) 1 3 4 2
(E) oo Qzflwellevene
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38. Which of the following statements is true about_ World Tamil
-~ Diaspora Day" '

(i)
(ii)
(iii)
Vel
(B)
(€)

D)
(E)

The Chief Minister of Tamil Nadu declared January 12 as

‘World Tamil Diaspora Day

The Diaspora Tamils conference was successfully held, with
the theme of ‘we will win’

Rs. 5 crore has been sanctioned for the establishment of Tamil
Parapurai Kazhagam to teach Tamil to Tamils living in foreign
countries.

(i) only

(1) and (i11) only
(1) and (i1) only
(1) and (iii) only

Answer not known

o a5 SLOID [_;evaG]uu_:r'r BreT LHdlw &@T@J@Lh Fapmseilch 68 2 arenLo ?

@
(i1)
(111)
@)

(B)

©
D)
(E)

siflps pewmwsst aisdar paeufl 12-p 2 ws YowGuwr gl
Sarons Mlelgsmi. ; .

‘Brd QeucbGeumd’ eremm SmUGUmmE@HLer Leb@uuif §3LI5]IEQITSSG1T OmBTH
élg)uurra; BenL_GluHma.

Qeuefipr@asefer eum(igid sUlprsERsEGs sl shlss sBHO LTl
SP&D S@LUUSHS 5. 5 Camy @zsE6 Qewwiur Hdrerg.

(i) wr @b

() whpd (i) wr @
(i) wpgiw (1i) wi @b
(ii) wpmid (i) v Gud
e Gsflweidena
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39. Which of the following is correctly paired?

ey
@)
3)
(4)

(A)

Manjusha Kanwar -
Vineet Kumar Sharma —
Kavitha Selvaraj -

R. Vaishali | =

(2) and (4) are correct

B v?B‘r (1) and (3) are correct

- (©)
(D)
(B

(3) and (4) are correct
(1) and (2) are correct

Answer not known

Badminton
Chess
Kabaddi -
Hockey

SpsQarpéstul Lapper Qurmsswrear Qamamaws CsibolsHSse L.

1)
)
3)
(4)

(A
®)
©)
)
(E)

m@&réqur &emeu - @pEU upsmLLD
eflais@WTT g - EITRSLD
sellsm Gaaeurme R

R. ecuaqme - aprsd

(2) wppid (4) o
(1) wpgid (3) o
(3) wppid (4) of
(1) wppo> (2) o

en Gsflweiwene
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40. Match the following :

(a)

(b) Pudumai pen
(c) Vidiyal Payanam
' (d) Makkaludan Mudhalvar
@ (b)) (© (@
4) 3 "R 2
I c° o CURE T SR |
©€) 1 2 3 4
(D) 4 1 2 3
(E) Answer not known
QuUThSE&. :
S Lrusar

(a)

(b)
(©

(d)

@A)
(B)
(©)
D)

(E)

GST2AM/2025

Schemes

Naan Mudalvan

BTG (LPSeD @6t

UglenwL Gl

efiligwied Liwesrib

LO&S(@HL6IT (LPSeD6UT

(a)
3
4

1

4..°
ellenL Qzfweldena

(b)

4

= NW

(©

b W N

(d)

O = = N

38

Beneficiaries
Public Grievances gets resolved
Women Empowerment

Education Assistance for Girl
Students '

Skill Development

Lwleurmert &ei

QUTgIESET  G@dDEET @M
Srésliu(Heug)

Quersené@ dsryoelgse

o menTell&(@héE; Heae
2 geilweaflgged

Sper Cuobuim()

m



41. Find

out the correct statements about the functions of

District Collector.

@)
(1)
(iii) -
(A)
B)
©)

V.2

(E)

He handles work pertaining to civil defence
He supervises the Municipal Administration in the District

He presides over the District plan Implémentation Committee

(1) and (ii) only
(i1) only

(i1) and (iii) only
(i), (i1) and (11

Answer not known

LOmeUL L 'c%l;ﬁu_irﬂsin veeflgar Qariiunear Spsaa spmsaaie sfluraree

GT ol 6L
@)
(1)

(iif)

&)
B)
(©)
(D)
(E)

?

Slail Gl utgariLs Ggriurer Lamflsmer Guh@asrdrdpmi.

-<SB|GUIT 60T DTG L‘.L&,@G‘D o GITerT b&TLIL|M ;F;]l‘reu T&ESMS

Cupurireneuud G pmir
Sleur  meulll Sl Qewimsss Gwalemers saawawGubn

ULIBL SSH DT

(1) wpmw (1) wr @

(11) L @b
(11) womb (1il) wr Hib
®), (1) wppid (1i1)

SlenL_ Gg,ﬁ’lul_leﬁld)smu
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42, Select the “odd one” out.

Consider the statements below - regarding the advan'tages of
State Industries Promotion Corporation of Tarhﬂ Nadu (SIPCOT)
Limited. . |
(A) It creates and maintains well-designed indulstriz-ll parks
(B) It facilitates the acquisition of lénd for industrial purpbses for
business

(C) It serves as a single point contact for investors

ﬂf It provides a range of loans and free ele(;tricity

(E) Answer not known

sansg Coumupb geatens Gsfley Calis.

sBIHBHTH <irs Cgrfe weaCamns swasdear (ALl EGﬁ'I’Gh’)LDG;G'IT &DI&g

&G 2 dtem HNEmssmats &oualunisaT.

(A) @& perg ayaewdsiLlL Qsmldgon Lhsrésmer o meursd
ugﬁmrﬂésa‘i}ﬂ)gj

B) Qgmfe ﬁlg’umwréwa@ésa;.rr&s Blegamss ms;u&du@&,gmg,g’)@ - @s
2 o dDg)

©) Qs wasLrearisEnsE ehons Gsriyl ydrelurss Qeudu@sng

D) @5 voCauy sLasmanyid, Qaeus Ol erEmrdenguLb sﬁ%pm@aﬂmgj .

(E) oflenr Ggflweidere
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43.

Assertion [A] : The Chief Minister of Tamil Nadu has ordered

Rs. 5 Crore to translate all works of
Dr.B.R. Ambedkar.

Reason [R] : The translation works of Dr.B.R. Ambedkar into

Tamil will be carried out by the Information

Technology and Digital Service Department.

\.ﬂ{ [A] is true but [R] is false

(B)

©
(D)

(E)

Both [A] and [R] are trué; and [R] is the correct explanation
of [A]

[A] is false, [R] is true

Both [A] and [R] are true, but [R] is not the correct explanation
of [A] is correct

Answer not known

smpm [A] . <SbCUSsNen S@asgsll Ll liLgmenyh QurACuuiiss

em. D Camy auphis SWlPs (WpSdeuT &g,ggaﬁll'_@merrrrr'r.

gmyeeid [R] @ sseue Qsmfled mrub whmbd gl d Cameiser gemp

(A)
(B)

(©)
D)

(E)

EPEOLD 9 bCLGSer LenLLIL&a AT f=
QumPCuw sl 2 eTerg).
gmpm [A] &fl, spammed aryemd [R] seum
ampm [A] wppnd smerd [R] @rerGn  sf; wopb  sryemd
[R], [A] enpmisE sflwumear elerdsid

smpp [A] seum, smremd [R] &

sapm [A] wompd smerd [R] @rew@o &M, yermméd smyewtid
[R], [A] eapmisE sflwrer efardswae erarug sflwumeang

e Gsflwelicvene
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44. The power of the municipality to suspend (or) abolish tax is

conferred by
(A) Section; 110
(B) Section - 111
V(€) Section — 112
(D) Section-—-113
(E) Answer not known
o0 afou fssCar svey ApsdoaussCar psym e e{ﬁ&mﬂb
QUG L b feurarg . |
(A) QGfley—110
(B) @fey — 111
(C) Gfley — 112
(D) Qfley —113

(E) e Gsflweldere
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45.

1}

Assertion [A] : A secretary should be immersed in files and

burdened with routine

Reason [R] : It is essential that he should have time to grasp

(A) [A] is true but [R] is false
(B) Both [A] and [R] are true; and [R] is the correct explahation
of [A] -
A [A] s false, [R] is true |
(D). Both [A] and [R] are true, but [R] is not the correct explanatidn
 of [A] is correct | |
(E) Answer not known
gapm [A] D o@m  Qewerert  Cemiysefld  pphs  wHmID é{gﬂ
QUPSSLONET FEOWTEa|D @(Hhés GeuaT(Hib. '
srgentd [R] @ perhssden U (OwLISS 5n'ﬁﬁas@mum, T Qs maT(enLd
Urssenangamend  SarellheughH@  DeUHSEE  &meld.
Q@G SHeudlwid
(A)  [A] &ft spammed [R] seum _
B) [A] wpmid [R] @ran@io sf; wpgid [A] s [R] sfurer cfersswmed
©)  [A] sy, [R] & |
(D) [A] wpmibd [R] @ram@pin &f, gpame [A] &@ [R] eflurer elersswaa
craLgy &1
AerL Qsfluaddae

(E)

the overall picture, size up the problems facing

the Government

43 GST2AM/2025
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46. Arrange the following committees in chronological order. |

(1)
(2)
3
@

G.V;K. Rao committee
Ashok mehta committee
Balwantrai Mehta committee

L.M. Singhvi committee

@ @.0), 0,
S 3, @, 1), @
© @6,
O 1), @, @), 6

(E) Answer not known

.IS]GBTGU@LD GWwssamar sroaflenslilg cuflasiLBsg s.

o

2

3)
()
(&)
(B)
©
D)
(E)

'G.V.K. ymeéu &W

<Caré; (Emg,g,rr &(p
Lebeu BT (Smgg,rr.@@
LM. el @

@), (3), (1), (4)
3), (2), (1), (4)
4, 3), (1), @)
1), (4), (2), (3)
efer Qsfwicierane
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A

Choose the correct answer :

Which of the following statements are true about the Council of
Minister’s in State? |

(i) The Council of Ministers shall be collectively responsible to the
~ State Legislative Assembly |

(i) The Governor shall administer the oath of office and secrecy to
a Minister

(ii)) The salaries and allowances of State Ministers shall be
determined by the Union Legislature | |

(A) () only correct - | vf{) (1) and (ii) only correct

(C) () _'and (iii) only correct (D) (1) and (i1i) only correct
- (E) Answer not known

gRlwmer aﬁlmt_smu_lg Caitey Qewis

- 4letrau(mLd mrraaé]u.ma;srﬂsu wrle o@wEsiser uhdu sflwumrer an@]aammg,

(Bgrrm Q.
(1) omfle  ooossissr  orhosF L LEWSEDESS Gl LTl
QurmItiyen L wieuT&eT ' |

(1) wrHle D@DEFTEEHSE 2 ERBT Seuisd @rsdlu iy wHmib Lgedl
\GywrenTd GlFlg el

(i) wrfle ewssiselar Csowcdlamsd samsser LOMID 9D Ligsamer

wsHw uryrEpearnGw Sromafls@d

@) @) weEw & B) @) wppo (i) &

(€) (1) wpmid (111) & D) @) wppd (iii) &
(E) oo Qsfucldma |
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48. Consider the following statements about the composition of the

House of the people.
\}ﬁﬂ Tt shall be cdmposed of not more than 20 representatives from
the Union Territories :

(B) It shall bé composed of not mbre than 2 members of the
Anglo-Indian community, nominated by the Prime Minister

©C It shall be composed of not more than 552 repreéentatives of
the state | .

(D) The President shall .npminate 12 people havin_g special

knowledge in Literature, Scienc_e, Art and Social Science.

(E) Answer not known

néseTmeider @iy upflu Geteumd odémssmer Uigds sfwren

alersssms CaiibOsHEsalb. |

(A) @& eqadu %I'_éﬂu ugdsailer Qmps 20 GrHHdseréssE Bestod
@ mss Ceuar(hb

~(B) @ YGrswgred  Hublsstu@n 2 mECor-@idwuer  Fopssdler

2 o piierias@Ené@ WaTod @) mds CoudrHib

(©) ‘@@.mnﬁ]wm&i@ﬂ@ @mbg 552 Grdhdsense Wemoed @més

- Ceuar(pid R

D) Qesdun, iPehlud, some wHmID sups delweald iy Lo

Qupp 12 pursemer @4 ursssmaeirt uflbgeriumt

(E) Mev Ggflweilerena

1

GST2AM/2025 46



49. Match List-I with List-II and select the correct answer by using the
codes given below the list. '

List — I (Writs) List.— IT (Literal Meaning)
By what authority |
" To be certified

We command
To have the body of

(a) Habeas Corpus
(b) Mandamus

(c) Certiorari

(d) Quo Warranto

@ b (© @
“a 3 2
(B) 2 4- 1
) 3- 4 1
(DY 1 - .48

(E) Answer not known

ol

DD DN Qo o=

&EQGasrr@a;aauul_@mm utigwe I womgd - edeareupen sflwns
Qur(mSgis. ' :

U gwed I utiquied 11
(BHOIGLITTEnamT) : (Coirig Gummer)

(a) < Qsrewria] 54 1. Grg,g,smaau_l 5&S Q_rﬂsmo

Curmenent

b) Gsugpssd 8 2. srerpefliy

Guirmenemr

(© Gpflgpeop epsgd 3. yoanidse

Guigmenemt

(d) 568 weop daeyd 4. @i BLET 2AeIHSSISD
B& Guipmenemt

@ ® @© @
A 4. 3 2
B 2 4 1.
© 3 4 1
D) 1 4 3
(E) oo GzfNweldenaw

D DO W =
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50. Which of the following statements are true?

(1) Parliament is empowered to constitute a High Court for any

Union Territory.

(i) Of all the Union Territories, Delhi does not have a separate

High Court of its own. «

(iii) Arunachal Pradesh and Mizoram became fullﬂedged states in

1987.
(A) (ii) and (i) only (B) (ii) only
(C) @) and Gi)only W (i) and (i) only

_(E).' Answer not known

- Yemaumd smppseiie sfluraraneugser erana ?

V)  aps @ wellwuear GyCsssdpsrar o wnBSoamsms ®LILISDHETE
Sifsrrsens LMTTEHLETDLD QUbHDIETeTS).

(1) oeasy  wealluar  GiCsemsErsEh,  ALodsEsn  salGw

o wirgHwemmid Gdea.

(i) <mewnése QrCsew whmb WGsTTD 1987-ib <aTH W SieTedled

rlerigermulle.
(A) (1) whmib (111) wEb- (B) (1) b @b

(C) (1) wppud (i) wC G - (D) (D) wpgid (111) wLEd
(E) &fer QzMwellevene |
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In which of the following cases did the supreme court hold that

“The preamble is an integral part of the Indian Constitution”?

(A) Shankari Prasad case (1951)

ﬁ)/LIC of India case (1995)

11

(C) Indira Nehru Gandhi case (1975)
(D) Maneka Gandhi case (1978)

(E) Answer not known

aps  eusdled e ssfdwepd ‘@b srfueewinddar ey

erflueambliGer guidomans LGS am STy uprdug?

i (A) esmsfl Qrens aipse (1951)

(B) ee.g.8. apse (1995)

(© @pf e 1S aups (1975)

(D) Cuersr smpd aupss (1978)

(E) efler QsMwciidbemad
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52. Arrange the following events of PCR in the correct order of

occurrence

1. Annealing

2. Extension

3. Denaturation

4 Gel-méking.

&) 4,21 i (B)_ 1,2, 38,4

C) 2,1,3 4 | \pf) 31,2 4

(E) Answer not known

Sereupy PCR—e flspeysamens sfluner euflenstiLig sianinsseyi.
1.  ugeruuBhsse

2. dfleuarLged

3 Quor Qisse

4. Ogo surfigse

@A). 3,421 - - - . ® 1,2,3,4

) 2,1,3,4 : D 3,1,2,4

(E)  eflor Asflweiidee
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53. Why was the My Scheme Platform introduced by the Government of

- India?
(A) TQ provide online .Shopping for governrﬁent products
\(y/ To aliow users to discover eligible government schemes based
on their dembgraphy |
(C) To give citizens free access to educational resources
(D) To .help people apply for govérnmeﬁt jobs across the country |

(E) Answer not known

My Scheme @ur&@g;mm et @bHu 2ireTd DPAPSILOSSILILLGI?

A) <rs gmﬁrﬂuua;@éS@ < GTenee ALk 6uLpkIESE

B) vwerfgeT  grisel e m&.a;@'ﬂ@g,rrmaa.' SiquueLule) s@Fwutar s
S L migener serMlu &[@jm‘éﬂﬁugﬂ

(C) BYwL&EsEREE eO6 aUETRGMET @EOEIFIDTE GULPTEEHSED

D) pr® uagnd oder orsmhs CaumesErs@ oflaTamiidsaEn
&S (EHE G 2-F6FHeD .

(E) efar Qsfwederena
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54. Match the following :

(a) Conjugate vaccine 1. Polio
(b) Toxoid vaccine 2. Hepatitis-B
- (0 Killed vaccine 3. Measles
(d) Attenuated vaccine 4. Diphtheria
@ ® © @
Ay-38 2. -4 1
JEBE 25 w8
) 4 3 2 1
D) 1 3 4 2
'(E). Answer not known
QuUTmSSI :
(@) @aenr sOLILA 1. @embQerenar @nng
(b) uré;@urruh@ SHYS 2. Qemuenigev-B
(c) Qsréetiur L gEHLILE 3. slLibeiwo
(d) < Quenyl i s@LLS 4. wodfwr

@ @® © @

@A 3 2 4 1
(B) 2 4 1 3
€) 4 3. 2 1
D 1 3 4 2

(E) e Qsfueidvene
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55.

56.

1

Which plant was recently genetically engineered to help combat

climate change by absorbing more CO,?

(A)I Rice _ - (B) Soya bean

\QQ)' Pine Tree .. (D) Corn

(E) Answer not known

SémeupeUaTEIDIET GTHSS STEUTLD, DiFlS 002 2 HlGHaLD SpeLer, snabme,
LDrrﬁ)_LTJg@grr(b\ CumyrHib cuenaude mju@i mHoD QEuwdiurLg? -

(A) <=fé _ | (B) Gsmwur Ser

(C) euer D _ (D) Ggmemd

(E) e Gsflueidame

Grape cell cultures are rich in

(A) Anthoxanthin - saz( Anthocyanin

(C) Pyrethrin (D) Taxol

(E) Answer not known

gyrlens Qe euemmidled ¢T3l Hevppgiarerg 2

(A) -aﬁ@gngrrlrf,glm B) <=ipCsrawafiar .
(C) euQusfer (D) Lrssme

(E) &lenr Qsflusiicoansd
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57. Assertion [A] : Acid rain means the presence of acids in rain

water.,

- Reason [R] 3 Atmoéphere contains oxides of nitrogen and
sulphur produced by combusfion of fuels.
(&Y TA] i true [B] i€ false
: (B). [A] is false [R] is true
©) Both [A] and [R] are false
\93( Both [A] and [R] are true and [R] is correct explanation of [A]

(E) Answer not known

gapm [Al P obleowert ererLg  weanpbit :9@& OO S  SETELOU|L 6T
- QumfPeug.
smyemd [R] : . erfl@Quirgssever drﬂﬂug,rré’u euefloam_eid enpbL e wHmid

spessdan gsma{smar Qsram(erers).
(A) [A] sl [R] saupy
B [Al seup [R] o
() [A] wppw [R] Gram®Go geug
D) [A] wppi> [R] rar@iCuo o [R] arrug [Alse sfunar alarbsid

(E) &fer Qzfwelerene
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58. Which of the following 1s incorrectly pa_iréd?
(i) Silicone rubber. — inert to body fluids
(i) Plasticizer —  make plastics brittle

(iii) Laminate

biend of adhesive and adherend

(av) Filler = improve mechanical properties

A @ énd (iv) only

\QB( (11) only

(©) () and _(ii.i) only
(D) (i) and (iv) only
(E) Answer not known

YereumeuameupPled 6Tg Feupns @)enaRTeEIILIL (HeTerg)?

(1)  AOGsmer ot — 216 freukisEser aﬁ]smao?q&lu_ur@

(iij Gemmaiq e esir AL Qp& e o QewiiyLd

(iii)- GoBiGar ~  Qfer wppib @Lysaler sw@e
(V) Brod ~  Quidy LaTUs®ar CLBLEES

Q) @) wppid (1v) wLED
(B) () v Gn

(€) () wpmid (i) wr G
D) (i) whHyid (V) L ED
E) oL Asfueidne
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| 59 What is the 'theme of “World Space Week 20247, qelebrated from
October 4th to 10th 2024? .
V{f Space and climate change
(B) Space and energy suétainability
(C) Women in space
(D) The moon : Gateway to the stars

(E) Answer not known

2024, =sCumui 4 wge .10 euenulerer e(m euTTSSled GI_“I'_'F)‘E;. &(hS &I (Hed e
eigiLeLld “e w8 dar@aef eurpn 2024” Qasnsﬁarl_anu‘Lng? |
(A farQeauef pmibd sreflaa wIHHD
(B) elarQeuaf wmhmib OPS Ho@gsanaio
I(C) A arQeuefude ;_Daaa‘ﬂr'r.
(D) Her: plesdrasafien aumde

(E) &flen Qzflweleranew
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60. Which of the following are incorrectly paired?

i

(1)
2
(3)
(4)

(A)

(B)
(©)

2016 — The Rights of Persons with Disabilities Act

1992 — National Trust Act
2013 — National Food Security Act
1999 — Rehabilitation Council Act

(1) and (3) are incorrect
(1) and (4) are incorrect

(2) and (3) are incorrect

\LE{ (2) and (4) are incorrect .

(E) Answer not known

Gl eiTeu(meueTeuHDIET cTene FHeummaL] Qun@gguul;@;dfmeﬁ?

(1)

(2

3)
(4)

A)

®)

(©)
D)
(B)

2016 — wrHpsHparreiiser o fenwser s ib
1992 — Gséflu SpssLeer s L Lb

2013 — Ggflu o amey’s LTESTULE sLLD
1999 -  uareurpay wapé e i

(1) g (3) seuprarea
(1) wpmd (4) geuprarenay
(2) wpmibd (3) seupraTeney
by i

cflenL Ggflwellevene
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61. Under POCSO Act 2012, aﬁy person who fails to report an offence to
the police shall be punishable with which of the following?
(A) 1mprisonment upto six nionths
(B) 1imprisonment upto one year and with fine
\LQ‘)’ imprisonment upto six months or fine or both
(D) imprisonment upto three months

- (E) Ailsw_er not known

POCSO sLib 20126 8, a3 @ BUGBD @ GHOS®S STeud gemud b
Laryeléas seuflama, GaramaamalbBlé) CTEETTE) &l SELILIE AU ?
(A) 6 wrsrse ey é]cm_ﬁ) SERTL_ DG

(B 1 QUL Slewn geimLeern oHDILD 9‘“'7"@5
(C) 6 wigmser cueny Ay SHTLDHET SHDOF SLTTHD BDOF @rar@ibd
(D) 3 wrsrser eueny Sleop gem_aner '

(E) e Qgsflweldeme

62. In which yez—ir the Scheduled Castes and Scheduled Tribes
(Prevention of Atrocities) Act was passed?

VO 1989 (B) 1987

(C) 1986 (D) 1985

(E) Answer not known

I L u@@ILESSILC L srdadr - wbpiDd Lpri@gernt (@i @lukisedr
b)) FLLID eTbg @ @QuiHmiiLilL g ? 17

(A 1989 (B) 1987

(C) . 1986 - (D) 1985

(B) e Gsfueidama | '

i}
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63,

mn

Assertion [A] : Modern education played a crucial role in

smashing the chains of social oppression.

Reason [R] : Lack of education among marginalized groups

restricted them to do low occupations.

[A] is true but [R] is false

&y Both [A] and [ ] are true and [R] is the correct explanation

of [A]
(C) [A] 1s false but [R] 1s true
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A] o |
(E) Answer notlknown
SO AT i e GhbEeE b endaemst bR meler
saalapern &AL Linie adsdns).
smganrd [R] @ grpgssuiui  wasefleo Cu  sreriu@n séefulanenio
Seuisaer smpbs Asmfdsear CuopQsmdrers Qeiifng.
&) [A] eft gema [R] goup
(B) [A] wpgio [R] @resr@w &, [R] ererug [A] Qe sflwner eflergain
(©) [A] pougy arred [R] o
(D) [A]. wHmbd [R] @rewhn of <pemed [R] ererug [A]l@er sflwiner :
NeTésd e
(E) an_ Ogfwueioeme
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64. Choose the right matches among types

(1) PMSSY
(2) NTEP
(3) NVBDCP
4) JSSK

(A) (2) and (3) are correct
\[Zf (1) and (3) are correct

(E) Answer not known

Pradhan Mantri Swasthya Suraksha
Yojana (Prime Minister Health
Protection Programme)

National Tobacco Elimination

Programme

National Vector Borne Dise_ase Control
Programme

Janani Shiksha Suraksha Karyakram
(Mother Education Protection
Programme)

(B) (3) and (4) are correct
(D) (1) and (2) are Icorrect

Spsar_eupdle G@ gflurs QummbSuwererg) ?

(1) PMSSY
(2) NTEP
(3) NVBDCP
(4) JSSK

A)  (2) vpmid (3) efwrereneu
C) Q) vpmw (3) &rﬂu_lrresr@@

(E) ofen Qsfluciicrensy

GST2AM/2025

Pradhan Mantri Swasthya Suraksha
Yojana (Prime Minister Health
Protection Programme)

National Tobacco Elimination

Programme

National Vector Borne Disease Control

- Programme

Janani Shiksha Su‘r_‘éksha Karyékram
(Mother Education Protection
Programme) '

(B) (3) wombd (4)-&rﬂu_|rrmemu
D) (1) whmb (2) af{ﬂurrsmﬁ)m
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65. With reference .to ‘Chief Minister's Breakfast Scheme’; consider the

following statements.

(1) This scheme has been started by. the Tamﬂ Nadu
'(2) It will be implemented in all Primary Schools in the State

(3) This scheme 1s a Pioneer Scheme in India and model for others

 to emulate

Select the correct answer using the code given below :

(A) (1) and (2) oﬁly - -~ (B) (2)and (3) only
W2 (1) and (3) only (D) (1), (2) and (3)

(E) Answer not known

‘pavaiflar stee 2 aray S’ uphu @@Dql_m; Yeaumid SiMldenaend

SEULRISET. |

(1) @Bs b sOPHBTL G QgrmsliLlLg.

(2) wrflesHecrar SDATESF QAzr_&s uereflsafigid Qa
QFELIOLIGSSIILHD. |

(3) @ns S L @bdureled em erCearmg S Lib wHmb HDeuTESET

. GerupmieushE (peTordflumsib.

ECip QarREsILILL GO vwau®sd slurer Lfame CsihboghHésea

(A) (1) wpmw (2) wrEb - (B) (2) vhmb (3) C_{Hib

(© - (D) oo (3) e D) (1), (2) womwd (3)
(E) olewr Qzflweldens
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66. What i1s/are the primary role/s of the Chief Minister Dashboard in
Tamil Nadu? | |

(1) To provide tourism statistics
(11) To monitor government department performance

(111) To manage health care services

@ Gonly

& G only

). Demd G ey
(D) (i) and (iii) only

(E) Answer not known "

SBIDBTL g6 PpsOaT LreuGUTiiger (PSS LIk eTamen?
(1) epmers geopule Lerefl eleurhismens smaug
(i) s gieopsaiear deudur@amens &é&ﬂ&nmﬂumg

(1) ssrsmré Cemeusamer HireudliLig

A @) LDL@LD
B) (i) wi G
(©) () wpgid (i) wr G
(D) Gi) wpgs (i) wr Gid

(E) eflenL Qgflweldena -
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67.  Assertion [A] : The Demographic transition varies betweeh

Districts.

Reason [R] : The districts of high economic growth attract
larger population.

(A) [A]is true [R] is false

(B) [A] and [R] are true but [R] is not the correct explanation for

[A]
(C) Both [A] and [R] are false
\SD‘)/ Both [A] and [R] are true and [R] is correctly explaining [A]

(E) Answer not known

mpm [A] T L Qsrens wrppnd CouguEDS.

smewrd [R] @ =ifls Qurmermany eueriddl Gemer angumasmags]as
LD&HSENGT [T GoTme.

(&) [A] sl [R] seup

B) [A] womn [R] &, epama [R] ererug [Aloe e

© [A] oppid [R] @resdi porp |

(D) [A] wpmid [R] &, womib [R] arerug [Aloea sfiuns efas@dng

(E) e Qsflweierena

11
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68. Which is/are the feature/s of Tamil Nadu Agriculture Budget
schemes 2022-23 is true?

(1) The Chief Mlnlsters dry land development mission targets
irrigation dependent crops

(2) The integrated farming system promotes crop cultivation with

livestock rearing

(3) 'Traditional paddy varieties are preserved under Nel Jayaram

Mission
(1) only | (B) (1)and (2) only
\;p)’ (2) and (3) only (D) (1) snd (35 only

(E) Answer not known

2022-23 b yamgharar sllppTh Ceusrmameno LI QgL S hisefler

Sibsrisare eralmeuareuhdlad 6TE 2 aranLo ?
(1) @sowemwssfar sls Ho Gubur @ Gusshd Broungend Fmihs
Lrsaer @essTss QsTamm g -

(2) poudoanbs uvammer wen LWEWT  STGUGULET  STOBL

aueTieniu|b Cl&merL g

(3) GOpé Qguymoer @ussd  epewrs urbulL Qb  elamssmer

UTEISTESHD
(A) (1) wipo : (B) (1) wpmid (2) v Ew
(€) (2) wpmib (3) LG D) (1) wpgid (3) wrEw

(E) ol Qsflwueidama
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69. Tamil Nadu's GSDP growth rates were 8.13% in 2022-23 and

—% in 2023-24 at constant'prices.

A) 8.1.8%
\‘@(8.23%.
- © 828%
(D) 8.33%
(E) Answer not ‘known

g@%p(r__ﬁm'_qeh GSDP aerigdl edlgd Hleoeowrar dssde 2022-236

- 8.13% ysayd 2023-240 b % aymaid GBS,
&) 8.18%
(B) 8.23%
C) 8.28%
D) 8.33%

- (B) eer Gzfluefdaa

G | 65 GST2AM/2025
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- 70.  Which of the following is correctly paired?

(1)
@)
3)
@)
@)
(B)
(©)

D)

. (B)

SDMA -
SFDRR —
SDMP -
NEOC -

State Disaster Management Action

Sendai Framework for Disastér Risk Reduction
State Disaster Management Project

National Emergency Operation Committee

THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE

(1) and (2) are correct  ryg ExpERT COMMITTEE FOR FINAL DECISION

(2) and (4) are correct @s¢adel whamn Ao QNS wyahsns

QUsuSIRT (G(Lallelr (06T MEUSSLILIL. B eTeTSl.

(3) and (4) are correct

(1) and (4) are correct

Answer not known

SpeumeuaraupPled sflwirar @eveanr 6752

(1) SDMA - wirfleu CuilLir Gueararews Gewaur@
2) S-FDRR — Guf aqnmgmgés G@pULsSHeTaT Qe mi
_ GLL_anDLIL] '
(3) SDMP - wmflet Cuili Guareareamwns L b
(49 NEOC - Gsélu wiawsy poagsmss @
(A) (D) wpgid (2) &
B) () wppd (4) sl
©) (3 wppiv (4) &
D) (1) wpp (4) &
E) oL sfuddme
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71.

1

'_Name one of the cyclones which wrecked havoc in Tamil Nadu and

Kerala in the month of Nbvember to December 2017.

(A) Vardah
B Ockhi
(C) Nisha

(D) Maarutha

(E) Answer not known

2017 peubui wpod wEbUT wLrshselle slbETH wHmbd Csrermeie

Gurflewes ghu@sSHwu Goreetuier duweamrs GoHllbhs.

(&) air
(B) @&d
(C) Blagn
D) oot

(E) o&feni @glﬂUJ@S]G'DG!DGU.
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72. The title of the Brundtland report is

(A)

(B)

Caring for earth

Caring and sharing

\}9{ Our common future

(D)

Environment - friendly Resource Consumption

(E) Answer not known

Gyeir_evesr_ yPléensuller saneliLy

(A)

(B)

©)

D)

(E)

yheou sealsss Gsdas
SeUENSSI5 @asfrdTanj HmID USiTeug
pog Gungairer afisren
E-EQ]ETF@IEQGD- bLL| &MMTHSE QUETRIGET BI&HTE

Mer Ggfweléena
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"'-\g;a’zl 3 2

answer codes :

Column — I
(a) Bioassay orgahism
(b) Accumulator species
- (© ~ Keystone species
(d) Exotic species

@ b © @
A 2 4 1_
(B) 3 1 4

= = N W

(D) 3 "2 4
(E) Answer not known

s

73. Match Column-I with Column-II and. select the correct answer using

Column — II

Vespula germanica

Palm tree .

Woodlice

Trout

Qp@mfﬂm&-l m  OphaflesIl oLt Quimss, eleLs @gﬁ]ﬂﬁ@aﬁsﬁmu'_ |
vweru@sd sflwuner elenemwd CaiblshHé&sab :

OpGeauflens — I
(a) =297 uELuTLe) 2 ulfamisd
(b) Ay Qamsar
(c) ewosd Geamsas

d) Swopm () Ganuser

@ ® (© @
@& 2 4 1 3
o: [ R SR 2
€ 4 3 2 1
D) 3 2 -4 1
(E) Meor Qgsflweiidene
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P o

GOppeuflans — 11

Glcuefuqa)rr Qgiroreflssr

" Uener LD

yriGuer

U Qrer B
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74.  Consider the following points about a biosphere reserve?
(a) It is the largest continuous mangfove area
(b) Tropical semi-evergreen forests |
(c) Agrosystems, silviculture, pisciculture and prawn culture

(d) The largest mangal diversity in the world its core area has
been designated as a world heritage site.

This biosphere reserve is :

(A) Shankou mangrove biosphere reserve
(B) Can Gio mangrove biosphere reserve
(C) Gulf of mannar biosphere reserve

\;B‘f Sunderbans mangfove biosphere reserve

(E) Answer not known

o W9isCaar sTALID LB ﬁla&rm@m GPLLs@er sEEHD Asramn® abs

o 2 WisCarer smd sdbe@ Qunmbsfns ety Caib0s@Hssab.

@) Bg e VsuQuiu <G5s05s saiiu Bl LTy

(b) QauiuwaT @ ey LW LIHT STEH

(¢) efleusmu wewiiysdr, doafsos, arauaiti, wHpib @mré euerriiL

(d) e asermelilu BlslGuflu wrsd 2 \Wlu LdmmsmL WLHND - Gser
W& uGdser 2 ws urrbufw SETIONE Glg QUGN LOBSIGTETS).

2 Wr&Gamer smn b Grsirrugj : |

(A)  aymrGsr sgitiyfle e urEGsrar sru9L i

(B) Gaer HCwrr sgitiyfle 2 W0rsCamer smindib

(C)  werranmt euener@gLm 2 uliEGsrar 9L Lb

(D)  spsrever sgiyble 2 WrsGamer smindL b

(E) e Qsfweidena

m
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75.

1

The work of laying Optical Fibre Cables (OFC) was initiated at

(A)- | Chinnamuttom
(B) Kodimunai
(C) Neyyoor

@(_ Muthalakurichi

(E) Answer not known

gemaflm@ofl wreil L i1b

LSlé@ib Lianl @g,mma;uug@.
A) mm@;{_m

(B) Qsmig peanar

©) Gpiws

D) ppspasEHss

(E) ofen Qzfuwieférane

71

village of Kanyakumari District.

eﬂjrrm;é]cb <Ll & Seuui Gaidler
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76. Which of the following is incorrectly paired?

Rivers Tributaries
(1) Cauvery —  Amaravathi
(2) Thamirabharani —  Pampar
(3) Vaigai —  Pechiyar
(4) Vellar - —  Manjalar

GA) (1) and (3)
(B) (1) and (2)
(C) (3) and (2)

G @ and @)

(E) Answer not known

etreumeuaTeuHmIET eTene SEUDTS @) eerrdasiiLL_ (HaTaTar ?

LR sioan pdlser
(1) sredfl ~ sy
(2) smllyurenf —  umbumgy
@) oaws ~  Gusdungy
(4) GQeuererm) = LD@HEGTIT)

@) (1) wppid (3)
B) (1) wppid 2)
© () wppi> @)
(D) (3) wppid (4)
(E) &ler Qgsflueldrene
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1.

1

Which of the following is incorrectly paired?

(1)
2)
3)
(4)

Hindu Religious Endowment Act
The Madras State Aid to Industries Act
Annamalai University established

E.V. Ramaswami launch the
Self Respect Movement

W (2) and (4) are not correct

(B)
©
(D)

(2) and (3) are not correct
(3) and (4) are not correct

(1) and (4) are not correct

(E) Answer not known

GemaumelaTaldile) ¢rg SeIDTE @)aamssIILL HdTaTs) ?

(1)

2)

(3)
(4)
A)
(B)

- (©)

(D)
()

gl 0w SpHlawsgion sLLD

Quigmev wrfle 2 el Gumib Cgmfldgamn Flib
S ETETTLOMD LIDSMOEHED Hlmieuliil L g
m.Qeu. grwgmdl suwfilurms QusssmesH
Carpmeissmt '

(2) womid (4) sflwrareey Geena

(2) wpmib (3) sflwrearees Geeme

(3) whmid (4) sNwrarenal @.sbsmeu

(1) wpmid (4) sflurareey Geena

elenL QzMwelidene

73

1925
1923
1929
1930

1925
1923
1929
1930
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78. Choose the pillars that support the Hall of Testimony (Saandranmai
Mandabam) :

(1) Love, Shy

(i) Delay, Tiff

(iii) Dignity, Sky

(iv) Compromise, Truth, Overview
(A) (i), (iv) are right

B) (), (iii), (iv) are right

W27 (), (iv) are right

(D) (1), (iv) are right

(E) Answer not known
FTHTDTETEOL  GTHT@ID LB LUSMSS STHGD FIGTSET TMa? TEHTLMSSH
Qsflay Qauis.

(1) ey, prawd

(11) seawssb, 9amsEsn

(i) ' omemb, eumemb

(1v) e@uurey, o e, saTGarT L LD
(A) (1), (v) wr@w &M

B) (), (iii), (iv) .G &f
(©) @), (iv) or@w sh 7

(D) (iii), (iv) v @b &f

(B) aforr Qpfuciidema
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79,

Consider the following and find out the correct
statement/statements. '

()

(b)

(c)

(d)
A)

B)

Evidence of a planned town, warehouse and ring wells are
found in Arikkamedu :

The Cheras ruled over Kauveri delta and thelr capital was
uraiyur

The Chola emblem was the tiger and they issued square copper
coins Wlth 1mages of a tiger

The Sangam Age has its roots in the Bronze Age

(a) 1s correct

(b) 1s correct

(Qf (a) and (c) is correct
(D) (a), (c) and (d) are correct

(E)

Answer not known

eﬁ@e‘;&sn@nm FaDMIGMET Y TTUBS FHUTET shmnl/Fbhnsemer (ngr(rj)G]g;@é;aanLb.

(a)

(b)
(c)
(d)

@)

(B)

©)

D)

(B

St psrb,  greflus . Sk bopbd 2ean  Slarmser
<24 f&&EG0L g6 assﬁwr@L@éaasQul'_l_em

Ganfiger  srGeufl  QLen ugdeow W' 8 Ceuseant. Sjeuigeder
SAODBSHTD 2 MDULT G0 _
@&ngﬁra;@ﬂé&r Sfenarid el p@b. Seuiisear Ledl 2 haud Qurhss g7

‘augeflemer QL] premukisemer Geuaflull L miser

§ais sTob deuarsas atogsdd Qmbg GCeummerns Qs hidwug

(a) v sM

(b) wr G &

(a) wppid (¢) &

(a), (c) wpgib (d) &
cllenL Qzflweilerenc

R GST2AM/2025
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80. The effects of Independenf Tamil Movemént T

(1)

(2)

3)
(4)

Tamil Language can maintain 1ts trad1t10nal 1ntegr1ty without
the loan words from Enghsh and Sanskrit

Reclalmlng chaste Tamil’s glory that was a pride of the

Sangam Period

- Actively opposing the Hindi language

Avoid Hindi and accept only the English words

\(90/ (1) and (2) correct

(B)
(©
D)

(E)

(1) and (3) correct

- (2) and (4) correct

(2) and (3) correct

Answer not known

sanssllp Quisssser ellaere|sdr :

oy

(2)

(3) @nd Qumf wfsssms W HL adisgd Qeudu@sd

(4)

(A)
(B)
©
(D)
(E)

GST2AM/2025 : 76

FOEVE (HSD WLHMID BpEiFle @LDITIEQSSGﬂEHT &g,aﬁ]uﬁ]mﬂ@u_l 'Q';LIS]IC_Q@LDTE@
Quniseidotger Hlme s

&réjasg SLOILpIT 65I'I'§!5§J sumrrg)g, S sBlMNE &1 ESTSSH60

Qpd dumflew sph hdasms L HL THNEQAsTETEESDH

(1) wpgs (2) o
(1) oppis (3) o
(2) oppid (4) o
(2) wpmitd (3) il

eflen Qg flwefcrena
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81. Which of the following statements is/are correct?

(1)
(2)

®

N
(B)
(©

Meetings of the Justice Party held in English only

Meetings of the Indian National Con.gress held in Tamil also in

order to attract common people

Dr. Muthulakshmi Re.ddy was elected as Deputy Speaker of
Legislature in 1927 |

(1) only ._correct

(2) only correct

(1) and (2) are correct

\QD)/ (1) (2) and (3) are correct

(E)

Answer not known

Qareu(mid QemH@or safld ag)/ereae sfluraree ?

1)

@

3)

(A)
®
©
D)
(E)

§£$5Lé]u51561 oL BIGET %réjaﬁ]@)gﬁsh LDLL@GLD BenL_GlLhme.
BrAuCsflu sradlyfler s Lhmser, Qurg DESETE SEU(HEUSHESTS,

F—BLTS‘L@QJ“ BLbSe.

1927 o0 @D L& @g,g,}@eal_&@ @UI—U} EL_I_LDGDTﬂ)E\‘éﬂGbT FlenaRT

sUTBTWSTTES CaMbOSHSSILILL .

(1) wr @i shurars

(é) ma'_@\uo sflwrerg

(1) oppb (2) sflwrearaney
(1)', (2) womb (3) sfluraraa:

e Ggflweieoene

Xy ' GST2AM/2025
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82. Who among the following was the collector of Tanjore when

Satyagrahis marched towards Tanjore, against salt law?

(A) K. Santanam

\gﬂ)’ Ad. .Rajaﬁ

(C) | G. Ramachandran

(D) Selvi Durgabai

(E) Answer not known

spfurflifser elius s sHnE afs sews Gorsd QearpGuns
Qeremueifl wir BE@s e L 2 Agns @ s s
(A) s spsrannd

(B) .G, ymgger

(C) & prospdyen

(D) Qsoved gsmum

(E) oeni_ GgMweilwens
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83. When Madras Mahajana Sabha was started?

| (A) May 17, 1884

(B) May 26, 1884
\Q)/ May 16, 1884
(D) May 6, 1884

(E) Answer not known

Qseevan Langar seL rtiGLTE Qs BT L g7
(A) Gw 17,1884
(B) Guw 26, 1884
(C) CGuw 16, 1884
(D) Guw 6, 1884 '

(E) oflev Qasflwelidoena

79
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84. Arrange the following Tamil Scholars in chronological order :

(1)
@)
(3)
(4)

(A)
(B)

Mayooram Vedanayagam Piﬂai
Vedanayagam Sastriar
Thanjavur Abraham Pandithar
H.A. Krishnapillai

(1), (2), @), 3)
@), (D), 3), (D

W @, 0, @,

(D)
(E)

(3), (4), (2), (1)

Answer not known

Slereupd gbllpdlEsisamer srapepLitly auflaeliLféss.

1)
@)
3
@
()
(B)
(©)
D)
(E)

wruLyib Ceugpmusd Gerener
Geugmmuis greivgd flwimm
SErems YUrsTd LTSI

e7&.¢J. Sl(maeipewriiSdraner

(1), @), @), (3)
@), (1), (3), (@)
@), (1), @), (3)
(3), @), 2), (1)

aflen_ Qgfweleorana

GST2AM/2025 80
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85. Which of the following statements is/are true regarding the Treaty
of Bassein (1802)?

@)
(i1)
(i)
(A)

(B)
(©)

The Treaty of Bassein was signed between Peshwa Baji Rao II

‘and the British.

Peshwa agreed to cede in perpetuity to the company territories

yielding an income of 26 lakhs rupees.

Peshwa agreed to surrender the city of surat to companies.

(1) only
(1) and (ii1) only
(1) and (11) only

\g}f (1), (1) and (i11)

(E) Answer not known

Cuéler o emugsems (1802) Ggmumar amaiibd &'LEQJSSGﬂGD TSI/ GTEnGL

Fhlwreng)/emnwumeareeu ?

@)
(i)
_ (111)
@)
" (B)
©)

D)
(E)

11

Guéler o LeTugswms Cuepeur  @rerLmd  Umgrmel | HmILD

< Cawimes@ @ uld esui(pssTarg.

Cuaigeur 26 @Lgb aHUTL GIHLTEID S(HLD yCaemsamans sbbLGMNSE,
([E]U"L‘F)‘E;ULDI'I'SS QQ]L@&GSEIT@&SS @UL{@B@&BI‘FG&’MLW#_

Gueseur @rd pEmIH QUL @UU®L &S @ULE CamerLm.

(i) e

(1) wHmp (1i1) v Hb
(i) wppd (i) e G
(1), (iD) wpgin (i)
oL Gpfuciome
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86. V.N. Gadg"il committee on policy and programmes was constituted in

the year
(A) 1978

~(B) 1980
(C) 1982

41«1( 1988

(E) Answer not known

Qsmetens wpmd Hird Qgmiurs V.N. sride @ o (eunssiurL
2 (h

(A) 1978

(B) 1980

(C) 1982

(D) 1988

(E) ofler. Qsflweldrena

L}
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87. Choose the correct matches among the types.

Organisation ' Articles
(1) Parliament - . -124t0 147
(2) The Union Judiciary — 79 to 122

(3) Directive Principles of State Policy — 36 to 51 .
(4) Public Service Commission ~ Bt 828

(A) (1) and (3) are correct

(B) (1) and (2) are correct
(C) (2) and (3) are correct
' V@Y (3) and (4) are correct

(E) ~ Answer not known

Spssareuphdler sflurer Qumpsssamss s _Hs. |

S/ DLILISET ' | sﬁ@asﬁ
(1)  umyrEpLeTHLD ' : — 124 @pse 147
2) gaflu fHssop — 79 e 122
(3) \ o7& euflsr Qb Apdaperps Camur@ — 36 wpge 51
4) <s Lianflwimert .CSg)r'resurramu_lLb C— 315 pse 323

A) (1) vppw (3) s
B) (1) wpgw (2) &
(C) (2) wpmub (3) &
D) (3) wpmibd (4) &fl

" (B) oL Gsfuddme

= | 83 GST2AM/2025
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88. People in Tamil Nadu Greets Chief Minister as “Thayumanavar”

(Man who becomes Mother) for the introduction of the scheme.

@A)

(B)

©

(D)

(E)

Breakfast in schools -
Vidiyal Payana Thittam
Neengal Nalama

Makaludan Mudalvar

Answer not known

- SLOPBITL 196D, ‘@g,é,h_'_Lgmgs P WsLLOSHWLSHETS, (pSOMLFFMT, (b

“SMLTETe’” GTa D pédlaTpert.

(A)

(B)
(©)
D)

(E)

ueTtatluded srened 2_awrey

oliquied Lweanrd S b

THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE
THE EXPERT COMMITTEE FOR FINAL DECISION

_f}rf'uaaeh [BELOT

@ sCsarell Lwmmun ellenL. @ mS) (pellmsns
ususumT @ (0eflelr (INET MEUSSLILIL 2 e

Loésa;@l_sh @g,d)sur’r

elenL Qaflwaferena
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89.

1

Which of the following statements are true about Athikadavu —

Avinashi project?

@
(i)
(iif)

(A)
(B)

%

(D)
(E)

Coimbatore, Tirupur and Erode Districts are the beneficiaries
of this project. ;

This project proposes to take 1.5 TMC of surplus water from
the Kalingarayan anicut in Erode District. '

This project was implemented at a cost of 2456.41 crores and |
irrigate 28,464 acres of farmlands in these districts.

(i) only

(i) and (iii) only
(i) and (ii) only
(i) and (iii) only

Answer not known

SISHEH_a]- é{@ﬁlﬁﬂl‘l’éﬂ AL b Qgrn_rrurrmrr &g_)as&mn_ ahﬂ)gjasas@m T
sfllwurerenel ?

(@)

(i)
(111)
@

(B)
(©)

D)

(E)

Camupsgn, g‘,]@f_nabrr womd FCIrH  Teu L his6r @g,ﬁL_l_g,gné)

LiaTenL_Slemer.

FI'-(S!]’IT@ Lorrsul'_i_g'sﬁei) o G SmefliByTwIET e amruilellmbg) 1.5 Ig-.6TLD . &

o ufl Beoy @S L sHDaEns r(&s 2 5CsAESILILL G

@580 L 245641 Gemg  wAISged  Qewdu@SsILLE.
CuopeludrL wralLksafd 28,464 gési flomsEpsel ursear i
QUPEIGHDS.

(1) b _
(@) wpgd (i) wr G
(i) wpgid (i) L >
(i1) wpmb (1il) wiGHb
e Qpfielome
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90. “Neengal Nalama” — is the scheme inaugurated by the Government

of Tamil Nadu.

(A) Intended to reduce the gap between the people and
Government

(B) It is made up of an instrument of e-governance

(C) It focuses on ensuring that government initiatives reach the

intended beneficiaries

J,B‘f All of these

(E) Answer not known

SOIDBTH SipEmed gj@uréjasuul;@mm ‘Bruser pooom eTeTaLd ill;l_mrrszf@

(A) vEs@psEed - reTassdicn Qe Cuurer G Qeuefleaw
GO ULISD G TETST(GHLD |

(B) @S Lorang Wler S (@HEDE Gr@JLb H(HEdl LT 2 (HeUTSsLILUL L STELD

(C) @sdwrarg =irs Qurgbe glLl_réjadT GO L euirs@Ené@ Ceeny
Cerdlmar eramm 2 nidlliLGSg$emng |

(D) @Gﬁ)suasm S| ETEH| LD

(E) ol Qs fweildene
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9L

Consider the following statements about ELCOT and choose the
correct answer: :

@

(1)
-(111)

(iv)

ELCOT 1s registered under the Cooperative society
Registration Act “eails

It is partially owned by the Government of Tamll Nadu

It 1s the Nodal Agency for IT and infrastructure development
for the Government of Tamil Nadu

It was established in the year 1977

M (111) énd_ (iv) only correct °

(B)

- (©)

D)

(11) and (111) only correct
(1) and (iv) only correct

(1) and (ii) only correct

(E) Answer not known

sOPETH Netargn sws Hoearssen (ELCOT) Spsein_ ahﬂ)gya;aﬂsm
Siig L udled &iflwimer a‘j]czm_mu_l @gn@@g@&&

@
(i)
&b
(iv)
@)
®)

(©

D)

(E)

GTELSTL Blpieueroreang sl (hney Fhs UL gSlen Ele'p
2 (HhAUMESILILL STGD

@sen Lgdwere|, HOlS BTaES @&H{@g@ﬁﬁ).l_u_lg,ﬂ@m
s8lps  reThissSler - sseue GCsTHOBLLD  LODD G  FTHS

2 GTel Lan eueniEFlsasmar oLy FpeuaTd @b

@bfneuerd 1977 @b am® 2 HeundssiiuLl L Sm@LD

(iii) whpgd (1v) wLEb Fwrerg
(i) wpgb (1i1) wi b sfureng
(1) wpmbd (Av) wIEL sNwreag
(1) wHmd (A1) v b sflwurerg
ellenL Qaflwaelerene
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92. 1TNT Hub 1s located at

| JPI{ Anna University

(B) Madras University

(C) Vellore Institute of Technology

(D) Madurai University

(E) Answer not known

1TNT apti ————— ewpgidens.
(A) et LOSEMOEHPED

(B) Qseremen LdbsmessED

(C) Ceugyrir Ogmfom L Hmeuartd
(D) wgey ubsmOESHED

(E) oflen QaNwelerenen
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93. Match correctly the evolution of district administration with their

corresponding year.

(a) Royal commission on decentralization 1. 1772

(b) The Indian statutory commission 2. 1885
(¢) The Bengal local self-Government Act 3. 1909
(d) The office of the collector dy - 1927

@ ® @© (@
T R S
i TR
©) 1 4 :8°
00 A Tk

(E) AnsWer not known

— b W W

LDTeuL L ﬁr‘reurra;gﬁs&r uflesTmeo mmfré@@u_l SeupmiL e QEmfenL_w

<G sflurs QUTmSSe LD :

(a) <fsny uFeIOTESLD | L. 1772

Ssmer Frud <yenenrib

(b) @pdHuw S L (PEOD <DL@ETWLILD 2. 1885
(c) eumsmer &m@n FW U & FULID 3. 1909
(d) wreurL %Lﬁgg,m@mﬁ SIS - 4. 1927

@ ® @© @

T o g R
1R AT S
W, ek g B
(D) 3 4 i 1
(E) e GsMweiicrena
o 89 GST2AM/2025

[Turn over



94. Identify the correct statement about the State Disaster
Management Authority of TamilNadu |

'(i) It 1s responsible for coordinating the response to disasters and
reducing risks

(i1) The chief secretary act as the chairperson for monitoring the

disaster management activities in the state

(111)) When approving the state disasfer management plan, the state
cabinet follows the guidelines provided by the National

Disaster Management Authority

v only | | (B) (i) and (iii) only
(C) (i) and (ii) only (D) (ii) and (iii) only
(E) Answer not known

sBILETH wrble CuiLiT Cuerarey Byeeamub LHHL sflwrar Fo D OIS TS
ST &. | <

1) Curfeyssrer  adielamarsamer @@@ﬁé}&m‘&,gﬂ, SILIMLIBISEETS |
GOPULSHES Gg Gungiiiy

1) sUpssded CufiLi Guarasromn Qsudurhemens sarsTeandED

smOeUTTad semeamnd Gewmreart Gewdu@dpmT

(1) wrhe Gufid Gereenio L sdDE @uusd efsgn Gug,
Caflw Guilir GCoerarew e eprdu afsT  Hsosmar
rhle Senwssyanel WearunHmdng

A () wvres B) () wpmd (i) we G

©) () wpgw () ween (D) (1) wpmid (i) wr Ew
(E) eflenL Glgrﬂu_la%bd)m :

il
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95. Which one does not include in _three-tier system of local

- Government?

(A) Panchaya’t Samiti
(B/ Grama Sabha

(C). Grarﬁ Panchayat
_ (D) Zila parishad

(E) Answer not known

@@Tﬁ)@é&@. > GreTi &) ien ol pepuier CerdasliLLTgS UL 65 ?
A) ugsTusz 503
(B) dgrwo senu
. '.(C') Arrol LEhsTWSS)
(D) seveor urﬂagagl

(E) ofe Osflucidma

i ‘ 91 GST2AM/2025
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96. Which of the following is correctly paired?

(1)
(2)

3

(4)
A)
(B)

C. Rajagopalachari
B.P. Mandal
Morarji Desai

C.N. Annadurai

(1) and (3) are correct

(1) and (2) are correct

\[Z( (2) and (3) are correct
(D) (1) and (4) are correct

(E)

Answer not known

~ Legislative Assembly

‘Legislative Council

Legislative Council

Legislative Council

Gereumeuareupled ergl slwimg @enamdsiiLil Harerg) ?

(1)
(2)
®
4)

(A)

(B)
©
D)
(E)

&. gnpGsrurergemd
.19, a6
Qumymired Gaamul -

&).GT6hT. | HTERTTE GO

(1) wpmib (3) slwTaTee

(1) wombd (2) sfurarea

(2) wpmd (3) sfNwrereneu

(1) vomw (4) sfurereme

alenL_ Qaflweldenea

GST2AM/2025
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97. Match the follbwiﬁg and choose the correct option given below.

Union Minister ~ Function
'categdry '
(a) Cabinet Minister 1. Does mnot ‘work under a Cabinet
_ ' ‘Minister
(b) Minister of state - 2. Pretend and participates in every
with independent ~  meeting of the cabinet

charge
(¢) Minister of state 3. Works under a Cabinet Minister

(d) Deputy Minister 4. Does not have 1ndependent charge of
- any department

@ G © @
2 1 4
B) 3 4 1
©) 4 3 2
M 1 2 3
(E) Answer not known

M = DD W

EpssraniiLBIDd UL iquidsamerd] Qurmsds efwner e ewwis Cairay Gawis.

LSS SiLFFT Liewh
UG
(a) SiwwEsT @& 1, @Gurr Qurgriis  si@wésfler S Liewfl
- yflwoml
(b) sefl QaorssrajmLw 2. @S DDLFFTHE eml_L_g,Q@iLD SQOBI
LSS DIENLDEFSTT Qarar® Lbi@ Qup GCauemHib
(c) wsHu MAMWEST 3. Qe @Ungrrrmaa Si@wEst SPri La |_|rﬂu_|
| Geuair(hLb
(d) Qeer @i 4. Qeums&s g,as‘ﬂ QersTeiemLwl  FMDSET
' e RFESILIL DT LT
@ b © @ '
A 2 1 4 S
®B) 3 4 1 2
< 4 3 2 1
D) 1 2 3 4
(E) e Qsfusioama
b e 93 . GST2AM/2025
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98. Choose the incorrect one from the given below.

M
@)
®)

@
@)

(C)
(E)

Fundamental freedoms guarantéed by Article 19 are

automatically suspended during emergency.

The President has the power to suspend few rights under

Article 359.

Some of the fundamental rights are available only to citizen of

India.

The Parliament has power to grant fundamental rights to

persons serving in the armed forces.
(1) only | (B) (2) only

(3) only \;D( (4) only -

Answer not known

Sipsaam_aippier seupren gerans Csitay Gewiuialb

(1)

)

(4)

(A)
(©)
(E)

GST2AM/2025 94

srsmoly  &lfl 19 epeon 2 sdreunsio efsSULL @i MLl

e flowsdr  omasgnd  Opmssy How srwgdler sramsGeu.

Qe Bmssriu@ib.

S| JFeLOLILY aldl  359-&p Aw e flomwsmer @ fnss

GYUTESSMOOI(HSE ASSMTD 2 drarg).

@)

eﬂa_) 2 fewwsdr Qpdu Ggsass wl GGD flenL_&GLd

Qrranieugdled Lenflumhmid BLIMT&@hEE SiigliLienL &rﬂaouaasanm GULPMEIS
BrLTEBLETDSEDE SIFETTD o drerg).

(1) wr @b B © oL (b
(3) LL@w (D) (4) wrEw
eSlemL_ @g,rﬂyaﬁ]absmu

il



- 99.

L}

- Assertion [A] : An autonomous sub-state called Meghalaya was

established within the state of Assam by the
~ Assam Reorganisation (Meghalaya) Act 1969.

- Reason [R] . The state executive and legislature can alter or

redistribute the territories of the units of the
federation if they so desire.

M [A] is true but [R] is false

of [A]
(C) [A] is false, [R] is true :
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A] 1s correct '
(E) Answer not known
ENu [A] ¢ oembd wpfrewiy (Cusreowr) sib 1969 @GD.L'D D&MD
' wiflosdhEer Gustewn adm seranm § geear wrblob
BmeuiicLg. '
smpenrd [R] @ wrfle oy Ssgieon LDJ_T)QJLDI gLwearmd  efmbidermed
sl Leowinden  so@seiar  Holugdow  rHoemd
Sag wHUSTe] CFweb. '
(A) [A] &fl gemed [R] seup _
(B) [A] wpmp [R] @rawew &f; wpod [R], [Alsster sfluren
er&sr@EHL :
(€) [A] saug [R] &l
D) [A] wpgnd [R] @QremGo &fl; <emed [R], [Alssrer sflurer
elaTéEIn0® ereTug) Fil
(E) olewr Qzflweidena

Both [A] and [R] are true; and [R] is the correct explanatmn

95 GST2AM/2025
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100. Which of the following statements are correct with respect to

“Objective resolution” of the Indian Constitution?

(1)
2)

(3)

(4)

(A)

©
(E)

The author of this resolution was Dr.B.R. Ambedkar

It was adopted by - the constituent assembly on
January 22, 1947. '

The goal of this resolutlon was to declare Indla as a sovereign,
Socialist, Democratic Repubhc

This resolution was later framed as thé preamble of the Indian

Constitution. |
(1) and (3) \m{ (2) and (4)
(1) and (4) (D) (1) and (2)

Answer not known

Qrdu  srflueevudear “@heGster Siorerd’ Qsmiums: 19l éTeu (mLD .
sgapnisaie) erg Fflwnerg ? '

(1) @pss Siwrases awduai Dr.B.R. wibCusst.
(2) @& geeud 22, 1947 e Srflued  Hlirew  FapLwmd  gHmIs
ClemeTeriiLi gy,
(3) @pdwremer @apurarewvwder, Gsmsds, DANBTLISE @@uggwa
2PlaliuGs QsSroransden &HlsCarerm@b.
(4) @sdiorand  Gemart  @pHu orHweenriGer (PEEIDTWITS
GUlq GUENLDSSLILIL L ). ' :
(A) (D) wpgid (3) (B) (2) wppiw (4)
©) (1) wogin (4) (D) (D) wppio (2)
(E) e Gsfueidma
GST2AM/2025 96 &



LGS - - Qurg pemamdley LHHID LGSSHle

Part-B — General Intelligence and Reasoning

eflarmdaser : 101-140
Questions :101-140

101. Choose the best alternative as the answer.
A factory always has
(A) Electricity (B) Chimney
€ Workers (D) Files
(E) Answer not known
Sessfuirar rHo) éﬂ@l_smu_zg, Csirey Q&
@ Qamfihereneuie erlibumipgb @ HLLg
(A) Lé]éﬁr&nULb : (B) yesCunss
(C) Qsmpemeriser : (D) Ganiiyser
(E)  ofen Qgflwelldena '
102. The total number of'digits' used in numbering the pages of a book
having 366 pages is ,
@) w2 VB 990
(C) 1098 : - (D) 1305
(E) Answer not known
366 ussnsdT QsTETL @I LUssssSHeT USSRIGMET  GTETE@ieUsled
LweTLRSSLILGL Cwrss Gessriseale eraramilsms eeueiena?
(A) 732 2= i) P9
(C) 1098 (D) 1305
(E) efen Qsflweddene
< 97 - GST2AM/2025
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103. 6=BF2*KST54#$PLVS@MUE6TQG93&TY

- Which of the following is exactly in the middle of ninth from left end

and fifteenth from right end in the above érrangement?
A) #
O s
C) P
I(D) L
(E) Answ_er not known
Gruupsdalmbg  gerLsTag) wwauwﬁ@ﬂ@ﬁ@ ufoapgTais, @eoe
Gramgp@d WA 2 drarg e ?
5'=,BF2*IKS75#$PLVS@MUE6TQGQS&TY |
(A) | #
B $
(C) P
D) L

(E) &lewr Qsfwelaena

GST2AM/2025 98 | e



104. A dog runs 50 feet towards South and turns to left runs 20 feet and

turns to left runs 7 feet and again turns to left runs 6 feet and then
turns to right runs 15 feet and finally turns to right and runs 5 feet.
Now which direction is the dog facing?

\/(‘-k) East “ (B) North

- (C) South : (D) West

(E) - Answer not known

e pruraig GsH@ dme Gprédl 50 ey gmb guu Ypg g upd
Hood 20 oig gy @OAps SerBL g Lpd AGOE T g 17D @igw
Go@, @rg upd Ao 6 =iy gmd @EEps. BarGw eueg Lpbd S

15 =i gmd @ GpE @ndlurs awg Lpb HmbA 5 iy giyb ¢OHHDg.

sHCung 9ibs BT ahs Sos Crrsd @QmeEE@Dh ?
A) Hypss . - (B) aLss
©) aspe - (D) Cope

- (E) &M QgMwueferene

If A is 50 m north east of B, B is 50 m north west of C, then C is in

105.
which direction of A?
(A) North ' (B) North west
«(C) South : (D) South west
(E) - Answer not known |
A sargy B &5 aldpss SHomstie 50 8 gmsdad B wyag C 6@
e Gupe Smsudad 50 S gmg,‘a‘,]@m Qmuler, A &5 aps SHosuld
C @@as@mo
(A) ess - - (B) aLGuis
©) Gspe . (D) GparGione
(E) olen QzMueidana
= 99 GST2AM/2025
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| 106. Seven executives P, Q, R, S, T, U and W reach office in a particular
sequence. U reaches immediately before P but does not immediately
follow S. R is the last one to reach office. T follows immediately after
P aﬁd 1s subsequently followed by W.. .Who ranks fourth in the

sequence of reaching office?

@A) W
®) U
< T
@) p

(E) Answer not known

TP ﬁﬁ@nﬁaeﬁ P, Q R, S, T, U wpgy W gl @ﬂm&uﬁ]eﬁ)
SQessas o daperi. U, P-s& wear oLanqurs Qsermen &,
S E@TTey S-c;znu_| o Lanqurst  Gar@srirefldveme. R grar soLAuns
eigsﬁa)asg@g, e fprr. T eerueur P-s@0 9ne 15]6& G]g,m_r‘ré]mrrﬁ LoHmItD
W aemueur T-eow Geir Qemirdlamn. erarGeu, prevsmaugns @f@@&)&gmg

DD BGEUT Wi ? %

A) W
B) U
(C) T
D) P

(E) e Qsflweldae

.
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107. According to a code language, words in capital letters in Column I

__ﬁ

are written in small letters in Column II. The letters in Column II
are jumbled up. Decode the language and choose the correct code for
the word given as questions. '
| | Colimn T Column IT
1) CROWDY (a) blooppv
(1)) SOUND ~(b) jkgotv

(i) CRUX (¢) ijktv
(iv) CRONY (d) ikmop
(v) NET (e) cimv
_ (vi ADDRESS () abi
Find the code for NEET"
(A} abhi s (B) basi

(C) biia \/(D) ibba

(E) Answer not known .

G G]mmc@uﬁleurulq, 1ereu(pLb (Basefraﬁla@a@u udeafés ﬁlmcu@m
ssaumoll ugsseayd, Column I G 2drer Quilw erupgdler o arer Gampsaer

Column II @& dflu awsde awsiiur @ererg. Column II @e e drar
qSGIEET  s@bBg Qearssuul@erarg. Gwmfleowu  KGsml  Gswug,
@a;rr@&aauul_l_ Gaearallssrear sflwrer GO s CaibEsHEsa|Lb.

ColumnI Column 11
(i) CROWDY (a) Dblooppv
(i) SOUND () jkgotv

(i) CRUX @ . Skby
vy CRONY (@ ikmop
(v) NET (e) cjmv

(vii ADDRESS () abi
NEET&@gé sfiwmar @Lf)]ufl'_smi_és saTL_luieib.
(A) abbi (B) baai

(C) biia _ (D) ibba
(E) oflenr @g,r‘ﬂmaﬁleusma) :

101 GST2AM/2025
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108. Choose the number group which is differeflt from others.
(A 71,7,38,17 By 8Y, 71,856
(C) 41,5, 3,47 ,/(b) 37, 14, 19, 7

(E) Answer not known

Spsaranib eramsafley Caumul L erar S(paney Gr@gws.
A 71,17,8,17 (B) 67,71,3,5
(C) 41,5, 3, 47 (D) 37, 14,19, 7

(E) - oflanL Qsflweléena

109. Choose that set of numbers from the four alternative sets, that is

similar to the given set : (81, 77, 69)

,/d) (56, 52, 44) - (B) (64, 61, 53)
©) (75, 71, 60) (D) (92, 88, 79)

(E) Answer not known

&Gy Qsrssuu@erer Qsreuyseiie, (81, 77, 69) aearayb st nina
Qearwuraranss CsibQsH&s : |

A) (56, 52, 44) | (B) (64, 61, 53)
(C) (75, 71, 60) (D) (92, 88, 79)

(E) AenL_ G]g,rﬂu.raﬂeb@eu

L}
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110 In the following questions, select a f1gure from amongst the four

L}

. complete the pattern.

2 G\l
© |y v ZQ/

alternatives, which when placed in the blank space fig(X) would

ap

%

oIS

(A)

(E) Answer not known

| Qereumid Gaerefuie, BrenE wrHmseid @) sHal &@@lagsmg,a: Csiibbshss

QUENTLIL LD (X)—uﬁlcu ® @Ter Qmm@i_g,cmg, ﬂr;uqas

B |x

(A)

6] --
(©) , D)

(B)  efler Agfueidme

103 - GST2AM/2025
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111. From the options, choose the correct “water-image” of the fig (X).

| e
\@ @'— (B)
© - D)

(E) Answer not known

IE]GGTG)_I@LD cllarmelled, @ ib @umgmmm UL LD (X)hem gflurar ribugass

Csiey Qewis.

)
@) | (B)
(©) | D)

(E) e Qsfweddene

1
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112. Choose from the options the correct mirror image of the given figure.

L}

« [A “[A

A

©) A _ (D) V

THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE
THE EXPERT COMMITTEE FOR FINAL DECISION

@ &Gmearedl mmib eflenL. @S puelmsns
susuemT (& (0eflel (INET MEUSSLILIL 2 6Tagl.

(E) Answer not known

Qar@pssul L uLsdler sflwrer sameantyg SIbULD SraEms.

@ & - - ® A
© A _ ' (D)V

(E)  &flevr Qzfweicrene

. 105 e GST2AM/2025
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113. Statement: Smoking is one of those human weaknesses which

tend to test the will power of the smoker to the edge.

Conclusion: I. It is very difficult for the smokers to give up

(A)
(B)
©)

(E)

Fahml :

@iga] :

(&)
®
(©)
D)
(E)

GST2AM/2025 | . 106

~ smoking even if they want to do so.
II. Human beings have other weaknesses as well.

If only conclusion I follows

If only conclusion II follows

: If neither I nor II follows

If both I and II follows

- Answer not known

L|ens IQLq_uugJ veflgafler  LaaSard G0, G epHeuafier

gananbiisems Gerdlé@Lb.

L Hea qliueis@é <iersd  el@pbliamgid s
efl(heugl Wseyb &igerid.

II.  wealsisesse Gouy S Le eI ki (@ThLD &éﬁ"ﬂT@. |

epgar 1

wpyey 1T oM

WPlyey I—fo goe 1I-1b ee

wyey I, IT &M

ellen Ggflwelerene

L}



114. Which word of the options cannot be formed using the letters of the

1

_f(;IIOWing word :

ENDEAVORS
\/d) VOTE

(B) ROSE

(© END

(D) DONE

(E) Answer not known

LE]GST@J@L‘D Qempsefes ENDEAVORS eerp Gsroder erpssiselembs

2 (HeUT&s (Pl wrs Cemed erg)?
(A) VOTE

(B) ROSE

(C) END

(D) DONE

(E) efleni @-‘e_r,fﬂu_laﬁlei)m%u

107
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115. These questioﬁs are based on the.following information :
(i) ‘Ax B means‘Ais Mothér of B’
(i) ‘A + B’ means ‘Ais Son. of B’
-. In BxdJ + P, how 1s B related to P?
(A) Mother

(B), Uncle

Vé) Wife

.(D) Daughter

(E) Answer not known
@s Cadrellaer e (mid gossm.sbazmm SigliueL Wirss deram e :
(i) ‘AxDB eerug ‘A aerug B Wer gmi’

_.(ii) ‘A + B arérug ‘A eranug B Wer waer

Bxd + P & B ereiiug P — 2. L éir ereueumm Qgm_rrijenLwig?

A) smu

(B) wmomr
(C) weaare
(D) wser

(E) e Qs u_réﬁ]ei)@é)
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116. Find out the right option for conclusions to the statements given.

11

Statements : All candles are lamps

vl
(B)
©
D)
(E)

All lamps are bulbs

: Cdnclusions - 1. All candles are bulbs

II. Al bulbs are candles

Only I foll.ows

Only II follows

Both I and II follows
Neither I nor II follows

Answer not known

QerRssiLl L fsmssalar  yesErsstar  Eflurer ApLusms

serL_Mlwe|b.

siflsamaser :  eron QwPEGMuTSHSEHD larEGser @0 |

Grebenrm eflemé &s (@D D669 o @S 6T S

weasdr L aoor Quyeaisdaand WemeilersEser @

(A)

®
©)

D)

®

L. erdven Weralleté@aesn QEaisHaeT @@ED
i P OFT_r55558) |
It ise@iE GiiLnksbbsi.
I opmn II Qsrrsss55)
I wpmib [T Qsrrsssssd

e Osflucidme

109 GST2AM/2025
[Turn over



117. Find the missing number

A) 3
B 9
R ¢ I
v

- (E) Answer not known

APulL QL sas Hlriiys

| A 3
B) 9
© 1
D) 2

(E) &lenr Gzfwefdvena

GST2AM/2025 110
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118. In how many ways a committee consisting of 3 men and 5 women

can be formed from 5 men and 6 women? '

@A) 15 | B) 30

SO 60 | (D) 19

(E) Answer not known

5 ypawgear, 6 Quansaflambs 3 pamser, d QuaseT AFTRITL Q@ G(HEal
asgman auflsaiiey CabEsBésLb?

@A) 15 . (B) 30
(C) 60 D) 19

(E) e Qsfweideme

119.

A box contains 2 white balls, 3 black balls and 4 red balls. In how

~ many ways can 3 balls be drawn from the box, if atleast one black

11

ball is to be included in the draw?

(A) 32 | - (B) 48

Jd) 64 (D) 96

(E) -Answer not known

e Qulige 2 Qeueteer Hip LBGISEHD, 3 smIY Hp LpssEsD 4 Sy

Bio UBSISEHLD o draTar. GODBSULED @O SHUY Ubg Qarer_ 3 Lpgismer |
a(H&5 CauamH@uaile aTdsmeT cuamaEsate) jeuheamm THSSHOTLD ? o

@A) 32 (B) 48
(C) o4 - (D) 96
(E) &len Qzsfwefdend |

111 GST2AM/2025
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120. In the given figure (i),(ii) are related to each other. Find the odd one.

@)

(i) @ G @ @) G G

ARSRIRLERDP Lo IREAR:

(A)
| \/(B)
©)
(D)
(E)

1 2 | 3 4

1
2
3
4

-Answer not known

&Gy Qar®ésuul Herer aGHTQL ey sbupsiur L (1), (1) uLmseld .

CUTBSSLHD UL Fmss s&m@iig.

@)

(i) O 0 G W @)

E | Q)49 | X|re] 28]

(A)
(B
©
(D)
(E)

GST2AM/2025 112
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121. A piece. of ice floats on water.
(A) then
(B) 'Sometimgs
(Q) Never

Vfg) Always

(E) Answer not known

o uallsst iy sematio Wss8Ds.
A)  sigssi

(B) &Aoo Cprasefe

©) @@Gurgind deLwng

(D) GI'ILIGIJIFI'QJLD

(E) e Gsfwelicoana

= | 113 | GST2AM/2025
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'122. In a class % of the students are girls and rest are boys. If % of the

girls and i of the boys are absent, which part of the total number of -

students is present?

@ i o

25 B 100

62 | 50

0y 2B D) 22
© 100 . B o

.(E) Answer not known

@M au@EUdd o drerarsefle g U@ oremedser. 158 o drereursar

1 1

LDTERTEUT&EET.  Djeuisdefleh g LI (& mwwaﬁlas@m Z LIBI@&  LOMGHTEU T&(@hHLD

udraflsg aurelome eafle ereieuatey LkiE wrameiser (Boys and Girls)
veTefls@, oubgleTerenit? '

17 _ 77
@ % | ® 100
62 50
2 s D) oms

(E) e QsfNweferena

123. Choose the correct alternative :

ab___ _ baa ab
(A) aaaaa _ vfg) aabaa
(C) aabab (D) baabb

(E) Answer not known

silwuner wrherpn Csiey Qeiis.

ab___ _ baa ab
(A) aaaaa : (B) aabaa
(C) aabab - (D) baabb

(E) ofleni @grﬂu__laﬁlei)msu

GST2AM/2025 114 g o



124. Study the diagram below and identify the region representing youth
who are unemployed but not educated.

Youth

Emloyed
v() 2 only
B 6,7
(€ 2,5,8
(D) 5,8
(E) Answer not known

&Gy odmer auTULSOSL qu.g,gj unrgg, @l Ceaumeuiloans yearme
LU &&Ts @QeneT@Ehamand @Nls@h U@GdHaws searLdlue.

Cauemeujent Guimt
(A) 2w
B) 6,7
(C) 2,5,8
(D) 5,8
(E) e Qsflwefcrane
s it 115 GST2AM/2025
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125. The following question is based on a dice numbered 1 to 6 in

different ways as indicated.

If 2 is opposite to 3 and adjacent to 4 and 6 then which of the
foliowing statements is necessarily true?

(A) 1lis opposite to 5

(B) 4 1is opposite to 6

(C)l 4 is adjacent to 2 and 6

\/6) 1 1s adjacent to 2 and 3

(E) Answer not known

1 s 6 euany eremamiiLiL QeTem @@ LS WIS 5@5@%@ Qe (®)
ellenL_wiefl.

aawm 2, 3 .és@ adlflgid, 4 wHmgbd 6 &g G QEwuler Spssar
FaOmIsEHeT org afl?

(A) 1,5 5@ adfle Qmésb

B) 4,6 .‘és@.@‘rgﬁrﬂeb AIUEIGT)

©) 4, 2550 6 550 Andad GBéEH

D) 1,2 s@Ew 3 s@w %@35]613 B mEE D

(E) e Gsflweldae

11
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126. If A i1s B’s sister, C is B’s mother, D is C’s father and E is D’s
mother, then how is A related to D?
v@() Grand Daughter ~ (B) Daughter
(C) Aunt (D) Father
(E) Answer not known ;

A ererueur Buglcirr sGargf, C erarueui Buler gmii, D eremuieur Cler speng

wopd B eerueur D@er  gmi. ﬁ}m@ A aemueir D o sra.la.rrrgn

Qs rL e weufr?
(A) Gusd (B) wsér
(C) é}igmg - (D) spes

(E) & Gzfweiereney

127. Pointing towards a woman, Raj said “She is the daughter, of my
wife’s sister”. How is the wife of Raj related to the woman?

W Aunt

(B) Daughter

(C) Sister

(D) Mother

(E) Answer not known

@@ Quarementd Tl i, T “jeudr erar aareluler FCasrsMudler a6 erars
gadlerri. grey eramueufler wevaredl BQLRTENSS e 2 Day ?

@) osh
(B) wsar
(C) &Cangf
D) smu

(E) &l Gzflweicena

= 117 GST2AM/2025
' ' ~ [Turn over



128. In a certain code language, ‘481’ means ‘Sky in blue’, ‘246’ means
‘Sea in deep’ and ‘698" means ‘Sea looks blue’. What number is the

code for ‘looks’?

A) 4 (B) 6

© 8 RV E

(E) Answer not known

86 GONAL EHSH Gumiba 481 adaprd ‘arand Sew, 246
TATDTE ‘HL6 pprearg’ wHmid ‘698’ eremre ‘G Sewrar Cemhpnd’ eremy
@,r_{j]é;a;ﬁuL;l_nsb, ‘Cgrppsdpsrer siger @M B Qumf ererer?

A) 4 - (B) 6

€ 8 D) 9

(E) e QgMNweilcrane |

129. Choose the odd one out :

(A) AEHL | (B) BFJN
(C) HLPT (D) MQVZ

(E) Answer not known
THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE

THE EXPERT COMMITTEE FOR FINAL DECISION

CaumiuL_ L gpemenmd Carpshdss @acsde whob doL @mE) wednsrs
cuevsvImIT (5 (el 6T (LOGIT EEUSSLILIL £ GTeS).

(A) AEHL (B) BFJN

(C) HLPT | (D) MQVZ
(E) e Qsfweldene
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130. The same relationship obtain in one of the 4 alternative given

below :

Evapo.ration : _Cloud : Rain

(A) Sneezing : Cough : Cold
V(ﬁ) Accident : Injury : Pain

©) Tanniﬁg : Leather : .Purse

(D) Bud: Flower :‘F;ragranée

(E) . Answer not known

%aﬁlu_mgeb : Gabd : wenLp

@bz @mm&s@ Qurr@g,g,mrrsm @stosuur@u.t;;‘s CoibLgsh&s
(A) gjmmsb ; @Qb‘méo : gafl

(B) &fusg : smwibd : eued

(C) Gsrer usaflPaed : Camed : LiGETLIGL

D) @Lorrl'_® : LDV : ‘r_r,éjgnmnb

(E) ofer Qzfwelievane
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131. Choose the best alternative as the answer :
Which one of the following is alwaysI found in Bravery?
VK) Coui‘age
(B) Experiences
(C) Power
(D) Knowledge

(E) Answer not known

Wassflwmer wrhm e amwusg Csiey Ceuis.

Srssi_er Qeudu@ueafiib EpssTamueubpeT eTg SrerTiLI(Ib?
_(A) ang b

(B) ei@uakse

C) &5

D) <=ifley

(E) e QsNweldeme
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132. Which figure in the option is embedded in the pattern given in

figure (X)?
I—.....
ot
X)
@) ® |[T=

/TN
& (D)

(E) Answer not known

Qer®ssriu Gerar (X) LSS ahs 2 (Hauld wmDBEIETeTE?

'&‘l'

X)
@ - - ® |[I=
/N '
© | N D)
(E) &fev Qsfwellcvenen

= ; 121 ~ 'GST2AM/2025
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133. Study the following arrangement carefully and answer the question

given

RD15E%K3J19P8#A2B$KM6W@N4©T*7FH

How many such consonants are there in the above arrangement,

each of which is immediately preceded by a symbol and immediately

followed by a number?

@)
S
(©)
)
()

_.One

Two
Three
Four

Answer not known

£Cyp QarR&srILL L QsTLaré SeuaTons Lilg & aﬁ]mr_réﬁ]ﬁ)@ eflanL_wiefl&e.

RD15E%K3J19P8#A2B$KM6W@N4oT*7FH

Copelubi  Qgrifled  @HlG&sE aamb AESSSTE e
Q&GN aggeman GUIQW(PSE&ESET 2 ararer?

4)
(B)
©)
(D)
(E)

- GST2AM/2025 122
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134. Statement: ‘We follow some of the best and effective teaching
learning practices used by leading institutes all over
the world — A statement of a professor of
M.N. Institute.

Conclusion : 1. The M.N. Institute is one of the leading institutes
of the world.

II. Whatever is being followed by world’s leading
institutes will definitely be good and useful. '

(A) If only conclusion I follows
VEBS If only conclusion II follows

(C) If either I or II follows

(D) I_f both I énd II follows

(E) Answer not known

sgpm 1 prasd do pepwrer, sflwrar umLb sHOGGD HDOSMET,
o wfle edrer Quiv Hpeuamseaid @mbs Lgsss sHAEHACHTD
— M.N. Institute Professor.

wpgey : L M.N. fpeuard 2 e 2 dmer g Anbs Fnieieard.

II. codfld oder dphs Hpuamsd smLGgs&@D HoOM6;
BEOOEMAISETTSA|LD, LILIGH 2 ETeTenelmTEa, b AIGEIGT]

(A wya I we@o &
(B) waey II o Gid of
O wae ] swag IT &
(D) apiar T opgns 11 s
(E) eferr Osflucioema

= - 123 ' GST2AM/2025
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.135. This question is based on the following information :
A# B means A is divided by B
A * B means A is multiplied by B
Salary of Ram is (A) 80% of salafy of Ravi is (B).

Find out the right choice to present it -

(A) A=(100#80)*B
(B) A=80#100#B
O A=(80#100)*B
M) A=80+*100*B

(E) Answer not known

@56 Caeredl Adraimid SEaIGSMET Sl lIL LTSS Qg
A# B ererug A ausssa B
A * B aréug) A Qussd B
b ereruauflen aupomand (A) reflulier aumorarsdd (B) 80%.
sflwrer Gareney sam_Hs
(A) A=(100#80)*B
(B) A=80#100#B
(©) A=(80#100)*B
(D) A=80+*100*B

(E) oo Gzfwueieene
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136. Fillin the blanks with a suitable figure from the option given

1

A8 N v ()
© ] 5 D) Q

AL 2

(E) Answer not known

UL GLgsle sflwmen Ll s eandl () Briys

o] “”O

(E) e Gsflueicreve

125 GST2AM/2025
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137. Statement : Nuclear power cannot make a country secure,

Courses of Action

I .  We should stop further increasing our nuclear power
I :  Weshould destroy out nuclear capability
IIT : We should focus on improving diplomatic relations -

(A) Only I follows
(B) Only II follows
\j(ﬁ Only IIT follows
(D) BOtil I and II follows

(E) Answer not known

- SaDEl : e FEESLITD BTg 6T UTHSTUML 2 (FeuTds (PIqUITg.

BLaigdamaufer Gunse

I :  pog semssdeowu Goaib afsflliuems Himss Ceuar@ib.
II ' o ssfou oufss G
I @ arsvs 2 pajsmer CubLESg LD Sauad Qex)ss CeuarHd

(A) pLeugsms [ b G &
(B) gﬂ_@mrasem IT o @w &M
(O o anpdes T 5t G ek
@) st T bppm Ihaf

(E) aflevL Qs Mwederena
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138. Find the missing number

36 216

@) 4
B) 9
(C) 49
16

(E) Answer not known

@Eﬂ@l.u L @l_g,@g Briys
36 216
6
A) 4
B) 9
(C) 49
(D) 16

(E) &erL Qsflweioeme

25

2%

127

125

125
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139. January 1, 2007 was Monday. What day of the week lies on
January 1, 2008?

(A) Monday \('{) Tuesday
(©) Wednesday (D) Sunday

(E) Answer not known

geraufl 1, 2007 Ars  dpew ealled saeuf 1, 2008 ererer a%hvpcmourras

@@5@L{)?
A) s fpew (B) Qecueumudipenio
(C)  yserdlpaio : _ (D) emipmsfpeaio

(E) e Gsflweddaa

-140. If 1st J anuary of year 2020 is Thursday then what day of the week
lies on 1t January 2021?

(A) Monday (B) Wednesday
(C) Friday o SO Saturday

(E) Answer not known

2020 geareifl 1 oy Csdl ellwmpsdlpen eraflan 2021 garaufl (psed prer

arenar &peio?

A) Brisar | (B) ygen
©) Qaerel L D)
(E) e Qgfwederana

11
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uEH-@ - Qurg Eeb
Part-C — General English

Aerméser : 141-200

Questions :141-200

'141. Fill in the blanks with a suitable infinitive.

Can you hope the stars?
(A) towalk (B) to number
C) tocount (D) to counting

(E) Answer not known

142. Select the correct Active Form of the sentence given :

“The wounded man was being helped by some boys”.
(A) Some boys helped the wounded man.

(B) Some boys have helped the wounded man.
\/(C) Some boys were helping the wounded man.
(D) Some boys are helping the wounded man.

(E) Answer not known

143. Select the correct passive voice for the given sentence.

We know that some children go wise early.
1. Itis known that some children go wise early
2. Some children are known to go wise early
3. Tt is being known that some children go wise early
4. Some children are being known to go wise early.
(A) 1only ' (B) 2 only
JO 1and2 = (D) 3 and 4

(E) Answer not known

B | 129 GSE2AM/2025
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144. Select the correct Tense form :

Will you be doing laundry tonight?
(A) Future perfect tense
(B) Future tense.
\/(6) Future continuous tense
(D) Future Perfect continuous tense

(E) Answer not known

145. Select the correct Question Tag: |, QUESTION AND ANSWER ARE TO BE PLACED
| THE EXPERT COMMITTEE FOR FINAL DECISION
Let him go there 9 @s8sarel wmmun eflenL. @mIS) ualmsns
(A) Shall we - (B) Shan’t him?
(C) Shall him? (D) Shall he?

(E) Answer not known

146. Select the correct Question Tag :

Let’s take this matter to count 2
(A) Canwe? v® Shall we?
(C) May we? (D) Should we?

(E) Answer not known
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147. Choose the correct preposition.
The Moon shines bright the clouds.
(A) Beside (B) Among
\/@)- Behind - (D) Between
(E) Answer not known
148. Fill in the blanks with the suitable preposition.
She poured the sauce | the pasta.
(A) through (B) about
(C) out % VGD) over
(E) Answer not known |
149. Fill in the blanks with suitable article from the options given below.
The organization helps __ elderly.
(A) an ' w/é) the
C) a | (D) no article
(E) Answer not known
150. Fill in the blanks with a suitable Article from the options given

below:

France is European country.
@) an | VB a
(C) the (D) one

(E) Answer not known

131 GSE2AM/2025
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151. Choose the correct ‘Antonym’ for the underlined word from the
options given : |
Police were all over the place; doors were yanked open.
(A) Pulled \/é) Fixed
(©) Broke (D) Shook

(E) Answer not known

152. Choose the correct Antonym for the underlined word.

Woin.en tend to be vivacious always.
(A) Full of energy V(B) Lethargic
(C) Dejected | (D) Gorgeous

(E) Answer not known

153. Choose the correct ‘Synonym’ for the underlined word from the

options given :

You may, being in a hurry, and seeing your car pulled up by his

1nsolence of office.

(A) Prudence Vé) Rudeness
(C) Gentleness (D) Intelligenbe

(E) Answer not known
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Discipline is the most essential virtue you should acquire when you
are young. It is a complex quality. It shapes your mind to reli_gidus,
social and economic patterns when you grow up to be an active
citizen.

Ata young age, we do not realize the value of discipline. An athlete
disciplines himself and keeps himself fit. He refrains from smoking,
observes good food habits and keeps good health. Discipline
increases the human energy and implies control, resistance and

adjustment. Qur energy is saved and made vital for a good output.

How is discipline beneficial to human beings?

154.
(A) To be wealthy Vb Tobewithposd lisbiss
(C) To be religious , (D) To be economical
(E) Answer not known
155. The word ‘essential’ means
(A) important (B) compulsory
\/{C) necessary (D) meaningful
(E) Answer not known
156. What does discipline increase in us?
, J)ﬂ/ The human energy (B) Unlimited freedom

(C) Complex quality (D) Acquiring freedom

(E) Answer not known

133 : GSE2AM/2025
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157. Fill in the blanks in a sentence with appropriate compound words.

Don’t rely on the

(A) Raining days : \(ﬁ) Sleeping pill
(C) Drawing room (D) Helping mind

(E) Answer not known

1568. Fill in the blanks with a compound word.

On rainy days, we enjoy playing _ games.
(A) Water vé) Indoor
(C) Card (D) Board

(E) Answer not known

159. Fill in the blanks with appropriate compound word.

Recently Sara bought a brand new

(A) Sugar candy ‘é) Washing rhachine
(C) Ice-cream (D) Foot ball

(E) Answer not known
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160. Choose the correct degree to complete the sentence.

The Amazon 1s river in the world.

(A) the most longest
(B) the longer
ﬂ) the longést
| (D) longest
(E) Answer not known

161. Identify the sentence with the correct superlative form.

(A)

B

©

D)
(E)

He is the more fastest runner in the team
This is the best cake I have ever tasted

That movie was the less interesting of all

She is the more talented musician in the band

Answer not known

162. Identify the degree of the word “inferior”.

(A)

©

(E)

Positive g ' (B) Superlative
Comparative (D) All the above

Answer not known
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163. Find out the correct plural form of the word ‘crisis’.

(A) Crisese

\/63) Crises

(C) Crisises
(D) Crisis

(E) Answer not known

164. Find out the correct plural form for the word ‘deer’,

. (A) dear

(B) deers
(C) dears

\/6)) deer

(E) Answer not known

165. Find out the odd word.

v(%) quickly (B) break
(C) split (D) tear

(E). Answer not known
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166. Select the correct sentence.
(A) He is junior than me.
(B) He is a MLA.
‘/C) ‘She is the cleverest girl in the .class.
| (D) This is a best poem of Tagore.

(E) Answer not known

167. Choose the correct homophone from the list given below:

~She has gone to buy Stationery.

(A) Stationery
(B) Stationory

\/6) Stationary
(D) Stationairy

(E) Answer not known |

168. Find out the error in the sentence and pick out the correct sentence.

At that time, she was writing a book for three months.

(A) At that time, she have writing a book for three months

(B) At that time, she had writing a book for three months
\/C)‘ At that time, she had been writing a book for three months

(D) ‘ At that time, she has writing a book for three months

(E) Answer not known

B 137 GSE2AM/2025
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169. Identify the sentence pattern of the following sentence.

In the hall, during prayer song, the students are silent.
(A) S+V+0 B) A+S+V+C

) A+A+S+V+C D) S+V+A
(E) Answer not known

'170. Identify the sentence pattern of the following sentence from the
options given below :

I'plac_ed the camera on the tripod.
(4) ASVC (B) ASVO

vO svoa D) SVOC
" (E) Answer not known

171. Identify the sentence pattern of the following sentence.
She made his intention clear.
(A) S+V+0+C+A (B')S+V+C+A

C) A+S+V+0 WvtD) S+V+DO+C
(E) Answer not known -

172. Fill in the blanks with correct participle from the options given.

early, Pami had time to review her notes before the

test.
(A) Have arrived v(g) Having arrived
(C) Arriving (D) Arrived

(E) Answer not known
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173.

Select the correct tense :

She ' an exam at 2 p.m. tomorrow.
(A owill take AD) will be taking
(C) shall take (D) shall be taking

174.

(E) Answer not known

Select the correct question tag

I have captured some beautiful moments in my camera?

(A) aren’tI?

(B) didn't I?

\/(C) haven't I

175.

(D) haveI?

(E) Answer not known

Select the correct tense and fill in the blanks given in the sentence

below :

The plane by the time I got to the airport.
oy, et \B) had left

(C) was left (D) were 1eft

(E) Answer not known

139 GSE2AM/2025
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176. Select the correct Question Tag :

Sheena won’t mind if I use her book gl
(A) won't she? | (B) didn’t she?

(C) haven’t she? | \/_(f)) will she?

(E) Answer not known

177. Fill in the blanks with a suitable preposition.

He had been a difficult experience.
(A) to (B) towards
\/(C) through | (D) thorough

(E) Answer not known

178. Fill in the blanks with a suitable preposition.

When she came me shouting, I retreated behind my
desk.
(A) through | (B) to

VO  towards ' D) till

(E) Answer not known
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179. Select the correct affix and form correct words.

The squares are aligned with each other across

different rows.

(A) un (B) dis

\,(6) mis | D) in

(E) Answer not known

180. Select the correct suffix and form a correct word.

The markets offer a (vary) T of fresh fruits and

vegetables.
(A) um I : (B) tion
SO ety D) sion

(E) Answer not known

181. Choose the correct Prefix from the given options.
She narrated the incident in an (imitable) style.
(A) un | \@) in
(C) | dis G | (D) mis

(E) Answer not known
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182. Choose the correct Synonym for the underlined word.

The bride was garrulous during the occasion.

(A) Anxious
) Talkative

(E) Answer not known

(B) Wise
(D) Quiet

183. Match the followmg words and phrases given in Column A with
their meanings in Column B.

Column A
(a) Find the pony
(b) Sleep like a log
(¢) Kettle of fish

(d) Upset the apple cart

(@ (B (o

(A) 4 3 2

) 3 4 1

& i

D) 1 2 3
(E) Answer not known

(d)

B = N

1.
2.
3.

Column B
a difficult situation
cause trouble

find something good in a bad
situation

deep sleep

184. Match the following words and phrases given in Column A with

Column B.
Column A
(a) look out
(b) look into
(c) look upto
(d) look up

@ M (0
@ 3 2 1
B 4 3 1
©C 3 4 1

v 4 3 2
(E) Answer not known

GSE2AM/2025
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d
4
2
2
1
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- Column B

142

search
admire
investigate
be careful



185. From the given sentence replace the British English to American
English.

She’s very mean with her money. Don’t ask her for any help.

(A)
v®
(©)
D)
(E)

Miser
Stingy
Wealthy
Generous

Answer not known

186. Choose the correct British English word for the American English

word FALL.
(A) Waterfall
\/(B) Autumﬁ.
' (©) Snowfall
(D) Rainfall
(E) Answer not known

187. Identify the American English word for “Pavement”.

%Y

SO

(E)

Platform " (B) Stage
Sidewalk (D) Podium

Answer not known
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188. Which compound words is with the pattern ‘Noun + Verb™?
(A)  Airport (B) Butter paper
V(G) Foot print | (D) Fishing net

(E) Answer not known

189. Choose the right combination for the blended word “docudrama”.

Vé) Documentary + drama
(B) Document + drama
(C) Documentation + drama
(D) Document paper + drama

- (E) Answer not known

190. Identify the blend of ‘friend + enemy’.

(A) frenmy (B) freemy
v(C) frenemy (D) friemy

(E) Answer not known

191. COZYTIVITY

Find the blended word.
(A) Coziness + Activity (B) Coziful + Activity
(C) Cozine + Activity \AD) Cozy + Activity

(E) Answer not known
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192. Select the Complex Sentence.

A Although it was raining, we decided to go for a walk.

(B)

©)

)

(E)

It rained but we decided to go for a walk.
No sooner it rained than we went for a walk.
It was raining and so we did not go for a walk.

Answer not known

193. Identify the sentence.

We wish to reap so we sow.

@
v®
(€)
(D)

(E)

Simple sentence
Compound sentence
Complex sentence
Interrogative sentence

Answer not known

145
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194. Identify the sentence which has error in subject verb Agreement.

(A) The team has been working hard.

(B) Time and tide waits for no man.
\/(C) She don’t have a pen.

(D) He doesn’t come outside nowadays.

(E) Answer not known

195. Fill in the blanks with correct homophone.

The for the ride was expensive.
(A) fair (B) fore
(C) far D) fare

(E) Answer not known

196. Select the correct homophone for the word ‘mail’.

(A) myle (B) maile
) male _ (D) mile
(E) Answer not known

197. Choose the correct homophones that rhymes with the underlined
word. |

The dog wagged its tail.

(A) taile ' \'6) tale
(C) toile (D) toil
(E) Answer not known

198. Identify the sentence pattern of the following sentence.

Fondly, she asked.

(A) S+V+0 B) S+V+C
C) A+S+C VD) A+S+V

(E) Answer not known
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199. Find out the odd word.
(a) dJury
(b) Sparrow-.

(¢) Committee

(d) troop
\/K) Sparrow
(B) dJury

(C) Committee
(D) Troop

(E) Answer not known

200. Select the correct sentence.

(A) Every students like the teacher.

(B) Hedo nﬁt have a music system.
\/(J) He is taller than I.

(D) She love her father.

(E) Answer not known
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